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Lime : 3 Hours Murks « 160

Instructions :

(1)

(11)

Each guestion carries one mark.

(28 (24 58 2.5 ardyy Sods

Choose the correct or most appropriate answer from the given options to the following questions
and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4 in the circle
pertainung to the question number concerned in the OMR Answer Sheet, separately supplied o
You.
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(1) 3 :2 2) 1:1 ()21 (4) 2:13

In which of the following plants, pollen is released before the stigma becomes receptive in
the same flower 7

(1) Selanum (2) Allium (3) Colchicum (4) Datura

w8 YaYod'd Sevfio DA ¥ 3008 @8 Dhyes'Dd H3yE ddso
s*540, 6 (808 BnEes' dDS* LDBH087?

(1) DerdSs (2) ©dc$:5: (3) 505 (4) S3r8

Chromosome number in the endosperm cell of plant ‘A’ and in the root apical meristem cell
of plant ‘B’ together equal the chromosome number in the shoot apical meristem cell of
Apple. Plants A and B respectively are

(1) Rice, Maize (2) Maize, Haplopappus
(3) Rice, Potato (4) Rice. Haplopappus _
A JIngy Eﬂﬂﬁ.‘iﬁtﬁ%ﬁ Em0d'R (5T Aratsne dopg S0 ‘BT BuE) d6 |

DyregineTood’ ) Swo (5 3rE’ 500 Sogg SOV v (D504 u|f Jaragimane
fmod™a (' ArE'dwe ROPES DIFIoM dowod. A 0D B InK) en Sdda

(1) 58, S "3y (2) Sw¥yatSy, HFFHE
(3) 50, pomresiod (4) 50, SFIES
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20% Adenines among the basces in a DN,

| he

DNA frugment are respectively

number o pentoses, nitrogen

base pairs, phosphate groups and hydrogen bands in
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measuring 6.8 am in length
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(1) 40,20, 40, 52 (2) 52,20, 20,40 (3) 40,352,40,20 (4) 20, 40,52, 40

5. Match the following hsis
Lt~ um
Replienfion of RN A

i ]
Ll s ¥ 1%
e I &

Last-1
(A)
(L))
(C)
(D)

h: phase L
iy
(I11)
(IV)

(V)

H F"l'l..l.'-.l:
G, phase Condensation of chror

(i phase Protein synthesis

H h&ﬁi‘. grllores sdbddod
s | ariio.]]

(A) G, &4 () DNA ©8%,8
(B) &4 (I} =Tossd
(C) {i.: ‘ol (111) .LE";';J'-’:':iE DoNsSrno
(D)} G, &4 (IV) @*'€S Hodam
(V) %3 28ed®, DNA |

L he correct answer 18

all F000A RIrgTRNw
(A) (D) (C) (D)

(1) (V) () (I (V)

(2) () (V) (I iy

(V)
(V)

(IV)
(1)

(1}
(IV)

(1)
(1)

(3)
(4)

natin

Interval between mitosis and initiation of DNA replication

9 wfoprdE Hfe Jorndd
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Iy. Maleh the fll”lh"-.'u';.it'_'!"‘-_: ligts

Last-1 List-11
(A) Golgl apparatus (I} Conversion of lipids 1o carbohydrates
(B) Glvoxvsomes (1I) Catabolism of long chain fatty acids
(C) Peroxisomes (Ill) Formation of glycoproteins and glycolipids
(D) Endoplasmic reticulum. (IV) Synthesis of lipids

(V) Osmoregulation

G1 So& oo wdaddod

Sag W1 o | oIl
(A) mO S8%80 (1) Taods :!"5::1 @8 o
(B) AasyZtSoe () B&8 Ayooe ad uire DY), (Bab
(€) DoByaSes (111 f;f" .;E“f.’i; -ﬁsirtv;:*w b
(D) -u,-uég; G el 1) v ‘ga

; ‘?}f v ok £ b

The correct answer is .

(g ]

20 DOTR PVIFGTRIW
LA) (B) (L) ()
(1Y (anh (V) (D
@2y (IvV) (¥ (0 (IT)
(3) (V) (V) (i) (MI)
(4)y (1) (D (I (IV)

7. Which one of the following characters is not found in transverse section of monocot stem?

(1) Starch sheath (2) Sclerenchymatous bundle sheath
(3) Lysigenous cavity (4) Sclerenchymatous hypodermis
g (B0l puEtrod’ J 0En0 JESFLRS0G0 BgIsS ey’ SNWOWEI?

(1) wod ad (2) dy@Smuroded Houy) &l
(3) wdherd HLirdo (4) S)SE¥merocind SRR

8. A taxon is observed. Himgiri variety which is resistant to hill bunt disease belongs to this
taxon. In this taxon, pollen grains lose viability within 30 minutes of their release from

anthers. The taxon belongs to the order

(1) Poales (2) Sapindales (3) Polemoniales (4) lluai;lus

28 tr5 305 H0800WE0 =0N00. WG wod g0l (HBG FESN Jrh T HN0
g0 & &ro s Boddiold. &1 e SoriiTsHen SovEE P S0 DSOS
30 DSndres'd 5 BnoTE 480 58" yEron, 6 4r5n)S & (FS08 Doddiod

(1) 450056 (2) >RoBOB (3) D3r25HO% (@) oL
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9. Identify the wrong combination
(1) Marchanila Pseudo-glalers (2) Dryopreris — Rhizome
(3) Cycas Coralloid roots (4) Folvax — Colonial form

-~ ]

n - o - il o . i
D05 oo Ve 1 i 0 L UL

(1) &ropolddir - uldyd svble (2) (BcirDow - Bdny
(3) &N - [marvd U (4) &y .-,- - RaTYNE Do
0. Match the following hsts
List-1 List-11
(A) Micrographia (I} Skoog
(B) Technigue of plant tissue culture (1) Bessey o
(C) i‘h}.’]{:gﬂfmuu EIHSﬁjiﬁE?III-.I'l Pl i @s 1) I‘mi Milgstly
(D) Absorption.afifoxic ghses by plants WRIV) RibegtiBlook -
(V) Stephan Hales
O 1208 ool ad SHSSn
Do TDo-1
(A) |8 Lr'.';.u‘f.r () :J:..a'*Erﬁ
(B) dngy Emane 555 68 (1) E’iﬁ;}
(C) $¢ s Hb¥5w (I %% 5%
(D) gy e DALpos (V) :r-ug :*.--:.E"
TanHos Fuoddo (V) 998 ardy

Ihe correct match 1s
28 L0THS £'8oDy

(A) (B) (C) (D)
(1y ) () (V) (IV)
2y av)y iy dn (I
(33 (i) (1) (V) (V)
4y (V) (D) (1) (111}

1. Trichodesmium erythrium which gives colour 1o red sea is a

(1) Hrown alga (2) Cireen alga
(3) Blue green alga (4) Red alga
J(8 BINEDE JoMs SeE T BeEtah oo JOBAho .k
(1) 8533 ¢ Adoo (2) u%Bsy RSO0
(3) 28 ﬂﬁzauﬂ E“L'J (4) 833 “Lﬁ :j.:huu
— —_—
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12. Identify the characters of mustard, chilli, cauliflower respectively
(1) Axile placentation, tricarpellary gynoecium, sessile flowers
(1) Inferior ovary, zygomorphic Hower, corymb

(3) Wl:s:-rh:ld phyllotaxy, unilocular ovary, production of flowers at the same node of the
peduncle .

(4) Hypogynous flower, unilocular ovary, corymb

@, WD, 0DI0S ofwods SHEM Kbodod

(1) S0 wodamgdo, (BD08¥ wodf'io, Syod Gwd Parjyes
(2) N5y woordoio, EE QS ddend PAajo, DAY

(3) JLELTE.: D ;J.,.;*E_;::u.u.__é)ﬂ:-'.;:,: Pk 80@AOTI0, Nag IMmeDSy0d 28 o)
:¢ v, iy 4Igea

o . el
(4) wodB*7&%: ‘fi‘jﬂ‘?kd wEiDodlud wogriciio, moald
L " ]

13, Four plants (A, B, C, D) are observed. *A’ has cartilagenous endocarp in the fruit and fleshy
thalamus as chief edible part. ‘B" has caryopsis fruit with endosperm as the chief edible
part. In *C’, each carpel of apocarpous gynoecium develops into a fruitlet and its mesocarp
and endocarp are the chief edible parts, ‘D" has syconus fruit with edible fleshy peduncle,
To which families A, B, C and D belong respectively 7
(1) Rosaceae, Poaceae, Annonaceae, Moraceae

(2) Annonaceae, Rosaceae, Moraceae, Rutaceae
(3) Solanaceae, Cucurbitaceae, Anacardiaceae, Moraceae
(4) Rutaceae, Anacardiaceae, Rosaceae, Fabaceae

Tt Bngres (A, B,C, D) 58200840 28A08. ‘A’ K8m >T riom sod
wodHofiSod® a0d Hordy SO EHFOS QiryRardy Supg DS 33 grioms
$OA dobrod. ‘B’ wohdS Ko (Horded 8T grdom dod K58 Dasd) 0

406200, ‘C’ " vDouing Bods HoU") HBYEYo uf DHDVOM BDI)G VOO
aotod. 86" Dgp PoLiSo, vodrHoESSo (Ded S 83 rmeom sodron.

‘D’ BnE) 83 fodde Phy dgdSyodod acd E:E.T:ﬁfa o)y 0N dodnod.
A, B, C $:80%05 Dov $&%m @ Hobvowrnd oo on?

(1) §'8%, 2ThH%D, uTd TH

(2) vIIH, D, TR, HTD

(3) doFh, HHOYTH, wdsdThD, T

(4) 8%, wSseGhh, 5&@b, PUD

Rough Work

AM 2014 B S R



Download from

14. Match the following lists

List-1
(A) Alstonia (1)
(B) Ananus sativus (1I)
(C) Sugarcane (111)
(D) Bombax ceiba (IV)

(V)

& (308 Dowd 8s By S

(A) o&Rsr (O
(B) saran DE&S (1)
(€C) BES (1
(D) &owy Sear (IV)
(V)

The correct match is

205HS #*o%)

(4]
o

(A) (B)Y (C) (D)
() av a o) @M
2) av) (v) (@
(3) (V) m (@ )
(4) (V) (I (I (IV)

JbigDeal

List-11
Roots al lower nodes of the stem
Leaflets are attached at & common point in the leaf
Swaollen placenta

More than two leaves at every node

Underground lateral branches producing aenal leafy shoots

=15

srodo Tl 80b fmope S& B

Dod" JPsw wBT'L Yooi)o Vob sodbo

4Dy 43) BodTPRP R0

158 Lol S8 Todk Yol Q& Soes

Erndy ;oyed) THD Srdinfid JEnE FTRO
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(I) Number of stamens in 5 flowers of Allium is equal to those in 5 flowers of Solanum.

15. lIdentify the wrong pair of statements

(II) The microsporangia of Hibiscus and Asparagus are having 80 pollen grains each. Then
the ratio of the number df pollen grains produced from each stamen of these two plants

T2 (e o
(ITT) The ratio of the number of stamens in the flowers of Pisum and Datura is 2 : 1.

(IV) The number of carpels in a flower of Smilax is equal to the number of carpels in a

eyathium inflorescence. 'If"I‘W:: p- ™ a L

s Sl I dS BE OB ’mfuﬁfﬁy 4 4 0

() wdHLSS*D 5 Parjosta saove Ropg P3G 5 Pirjos'd Bdow
wORgH VITrIoM Gowod.

(I) Fr05)8, wd)orRs'd |98 wf) Dgburdohod” 80 doriTmdHoe damyom.
& Tod Befpod &8M¥; THdo Hod adyd HE&JE_ S Tavdo
wogrg Pand 1 @ 1o doded,

(IIN) %S, dér8 Hryed’d Ehoe Dowg TnE) B8 2 : 1o sokvod.

(IV) 72008y 28 DA Jod™d Sodere Hopg uf SIS PERagted’d
aadey 50@55’:& maroom dodod.

(1) (II), (I0T) (2) (m), (IV) (3) (I), (IV) (4) (1), (11)

6. Wind pollinated plants generally do not show the following character

(1) Flowers are large and colourful (2) Feathery stigma

(3) Single ovule in the ovary (4) Well exposed stamens

Jroin wovi vowdo B8NE S Susren FEEnom & ofird) SI20U9Y)
(1) Hadyes 2EIm, SoHws dodbo (2) &E¥Sod Sermio

(3) sowdchod® &3 wodo dodbo (4) 2 IIDd Tdow
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17. Identify the pair of wrong statements in the following
(I) Intine of pollen grain is made up of sporopollenin
(1) Pollen grains are well preserved as fossils because of the presence of sporopollenin
(111) Enzymes can degrade the organic material of the exine of pullen gran,
(IV) Sporopolicnin can withstand high temperatures, strong acids and alkali.
(508 TS D05 WgRgo pdod flodod
(I) Lo BBmad) Mﬁ,} vodd ”.-'J.:E:,:ﬁuéi:du iﬂ"_‘}-ﬁr{ﬂ‘ﬂi}ﬁﬂ‘ ;}15:_5:1 aoood
(II) &8P EIS 40600 89 Sorfi Dmedoo foeron gloSdondoron
(1) InBow SoiBoed) g aubaﬁiduﬁ' 403 wo|bab Sevgey ¥5AoVNDY)

(IV) 338830 wbs aﬁ";_ﬁé-::m. DOIIN BATUIN, FOOLN duaftiods

(1) (I, () ¥ rnmiaigm é# TM['I_] (1), (1)

18. Study the tollo ~.|r: iﬂ!‘" "f

List-1 Last-1i
(A) BOD (I} Treatment of sewage
(B) KVIC (I) Mecasure of organic matter in water
(C) LAB (I Biological methods for controlling plant diseases
(D) STPs (IV) Increases vitamin B

(V) Production of Biogas
& 308 edorod uggoiado Sgi08

arDior.l aDo-ll

(A) BOD () Sk 80 H0HSSEDL

(B) KVIC () HES*D K535 dorgra) BwWEN BOIr@o

(C) LAB (1) FwHho Tgibe HLOSHSD AXTrA0T 25 Adbo|dn IR
(D) STPs (IV) 265 B, 20460

V) a}?ﬁrn‘gfa ::n:"r;ﬂ
The correct match is
ad »8Th3 £'30Y

(A) (B) (©) (D)
M o 4dy) 1)
2 vy (m an
3) (v an {Jmy (@
@ M @ (Jav) (V)

_—_———-——————
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19, ldenuly the correct pair of combination
(1Y Parbham Kranti Resistanee o Virus
(I} Pusa Gauray Resistance to Aphids

o fruyl borer
o white rast

Resistance

Resistance

(111} Pusa Sadabahar
(IV ) Pusa Shubhra

B, "Ha ™yl ol Mool R
ele Ma s s i el O W) EBdng MO0 WOo@

A s wy o W
— HEy [audab L} 5 eh

1 o ]
(1) 8N

o Sk
= = e L
T o I E & e, .’-_ - i iy i, & ol ;
(11} J..._".." i Ul m— -.ﬁ'l-d\;ﬁ.- L'.-.“'_"' Lo -E
(I &7 fowerd — %oo &0 b5l (H85°85

(IV) -:.'.:_]".:J‘ i Lﬂ

(1) (1), (1) (2) (), (b g8 (1), (IV
20. Study the following list§ - :
List-1 List-11
(A) RNAI (1Y Cotion bollworms
(B) ELISA (II). Early detection of HIV
(C) PCR (IIl)y Meloidegyne resistance

(D) Cry 1 Ab (IV) Antigen-Antibody interaction

Bodl HoH5 St (DG FES
I,

JbigDeal

Hhinds
Minstard
LCow ped
Cauliflowet

— Bl O LS
. - |
el

iy P .
..__..."II.._J"

shn 36

4) (D, (1

(V) Corn borer
& LE.'.aE rDeredS: u:_ﬁ;gaﬁ:.-?ﬁa S0l
eriinr-1 ardor-1l
(A) RNAI () (28 58O Hhb
(B) ELISA (II) HIVa k_i":ﬁl‘c,sf S46* BenmE'Sdo
(C) PCR (1) S andNSH DB FEs
(D) Crv1Ab (IV) (®EdEs nwido - HAEE%0 DEINE Vg
(V) E‘Sl #5°85 (Corn borer)
I'he correct maich is
ald RoThd 3o
(A) (B) (€) (D)
) ¥) (D (1 (I
(2) () (@v) ((an )
(3) (Iv) (m @O V)
4 b aJm vy (O
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11. Assume that the occurrence of nitrogen bases in adjaceml positions in 4 DNA girand 18
random. Iu.ll,-nliﬂ. the minimum number of nucleotdes in a DNA strand where GAAL can

oceur once on the basis of probability 7

DNA 338" $( 82D g oves (D), (D5 S 40000 W0 rEyw

,;, g0 w8 0d. .vu.::-.-...n,a-

x

agrdon GAAT |00 nEar B aodiral edeio e DNA 3 S* acd :&:'EL;:.*I*EL;

-E-':.i., -'ﬂ:":l.!. % -; jlle‘...li
L =3

(1) 1024 (2) 512 (3) 256 (4) 4096

32. Some foreign DNA fragment is attached to Cla 1 site of pBR322. This recombinant vecior
18 used to translonmeBSehagric/iy co li :-.- st cells. The cells subjegipd to transformation are

plated on two'different med's mﬁvﬁ [ ampi ﬁam other containing tetracycline.
The transformed .*ﬁﬂl::_ﬁm;:]ni::r the recWMbinant yector

(17 will grow on ampicillin but not on tetracyeline containing medium

(2) will grow on both tetracycline conlaining and ampicillin containing media
(3) will not grow on either tetracycline containing or ampicillin containing media
(4) will grow on tetracycline but not on ampicillin containing medium

Jendich DNAS pBR322S" ai) Clal 50 58 oL Hos 3. & YoboTras
orse ¥ 0ol §78 fare H858%53 E2dS0 ::m:ad;s Dol Soveo Tods
34y 38 Srsee B8 - 58 woDNOD FONEIN)G, Todds BrREn LOANS 2
- SUrEn Wohwarow. St oT@rey ooy SO0AS 58385 085 s

(1) woB%05 LOAS ddrdfo Nd diberon, 57 gier s BN Wresc
L REAY)

DAS 5:0dn woLH0S DA% crdsre Sodod Q35 "D eroa

OnG drHso :xu: o woBhBhOS DAS SPSE0 8 7R RN

(4) T3 IE-. SOAS cirdEo D18 DSmson, TR wobhde SOAS wrese®

ad &)

f_:"; FAIT

f
Fes
JUs J0M
20 2n

i)

(3] Lt!-.r‘

Il
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23 ' he carrect pair of combinations
)r M Mistinction berween PS | and PS 1
(1]} I-I,L*. Semiconservative replication of DINA
1) S Polypeptide synthesis
V) P [dentification of chemical nature of genetic malcerial

- Y ¥ i_';. '-rl.lr . -:I
o b Udnd W el el O nd I bt i O R 0
'

M "' PSI,PS1l So8¢ so

(1) "N — wgwoogs DNA (0858

(111 *°§ ,;;',d; X

(V) *4p 2350 Ao .‘:!]ﬂtja“&t;- 98 bl AT T

() (M, (1 @, ) U, (1Y) (4) (D), (1)

24, Study the following lists

List-1 List-11
(A) Exon (I) Site for binding of RNA polymerase
(B) Capping (IIY Coding sequence
(C) Tailing (IlI} Lagging strand
(D) Promoter (1V) Methyl guanosine riphosphate

(V) Adenylate residues

& r F =

51 |S0h ;Darod @.::Eu'j:au O30

o] Dol
(A) 57w () RNA 205&%09& wobodud ko
(B) s*ooh (1) Ho3d8 wi ;..Léi:h-..:a
(C) Ei-‘dh (1) TS8068 2%

= ] g - W - E
(D) SBrsE AV) BBS meSFHS Bod-ias

(V) sA30E

The correct malch 15

ad DOThIS &doly

(A) (B) (C) (D)
(1Y (IVY (I (I (D
2y (n Iy V) (@
3y (I (V) (D) (V)
(4) (1L (D (II) (IV)
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It the codon GGU is reversed, the resulting ¢odon will code for this amino acid

GGU o880 884Anda i-:'::., BoEd0 & c:-:-.r.-.l-" W Hosdonm dotwed

(1} The (2) Tyr (3) Tmp (4) Leu

Tall (T) is completely dominant over dwarf (1), Red flower colour (R) s incompletely

dominant over white (r), the heterozygole being pink. Plant having genotype of Tt Rris sell
pollinated. What would be the proportion of plants with dwarf and pink charmcters in its
progeny !

dd olwo il Desce o arlm L3 J S0 aghiod, Yo Jysons
(R) Boogdo HUrpmadss - f{lj‘?#flﬁh"%ﬂrﬂ” Enh%aggm cdarizzo foernbEoran:

"EJ.LW{J&-. TLRr r.:.-’.uga’;'u—*;;-... BOMAS ““*ﬁir"" f;.-_s.'::“’. -.-.'---.-.r'..-:r'.? adandod. &R aaﬁuu

e 20 gt aord oferord) Sei)o Lods Jod doR0B?

3 2 | 9
(1) 16 (2) 16 (3) 16 *) T6

A cross between two tall garden pea plants produced all tall plants, The possible genotypes

of the parents are
Bods 4S5 8'h parl S o bostdn ul B8 pde By A Do) D ad 8
sonTron, =nf Bu¥jod edsvdisnd) sSag GIrArOR

m TLTI

() TT,. T

(1) T,

(V) Ty, T

The correct angwer 1s
2l =00he s

(13 (11), (HI) (2) (HI), (1V) (3) (N, (OV) (4) (1), (1)

——————————————————— _.._—————'l—-—-
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18, ldentify the correct pair of combiniation
(1) Viroid — Bovine Spongiform Encephalitis
(I1) Prion — Creutzieldt-Jakob disease
(111) Measles virus — Glycoprotein projections
(IV) Rabies virus — Polyhedral symmetry
20 6hdS HadloD) Ao sl MHBoSod
(1) Joroxd —&3a .f]'*;,nﬂ;f:‘f}; SRR P L Be
(II) (2087S — $470d -arsd gl
(I @e%d) U8 — S R'US0s 08305 Voo
(IV) D08 B0G— i 2h= 5 llas s
(1) (1K), (1) @ (unvy (3) 't @D (4) (D), (I)
29, Beggiotoa 15 a
(1) Chemoheterotroph (2) Chemoautotroph
(3) Photoautotroph (4) Photoheterotroph
23 Q3 LE
(1) E>rcSdhddaado (2) SJrahs HSedodado
(3) s'0& ‘.’:rﬂc:ﬁmﬂ‘heia (4) s*0B ST do
30. In flowenng plants, the site of perception of hght/dark duration is

(1) Floral menstem (2) Stem

(3) Leaves (4) Shoot apex
HEYoT BedHod 508008 5o H3HOR (S oD rase
(1) =Ry Z}a-,rt:.:a Y00 (2) s~odo

(3) S (4) (508 wiio

Rough Work

AM 2014 B 13 R



Download from

Study the following hists
List=1
(AY Earlv seed production in coniiers

(B} See

d development and maturation
(C) Lateral shoot growth

(DY Root hair formation

F

) wgpadido wafaod

(A) SV PN Fodd ISEREE N
(B3)

:u:'h:r':.'" 'I:.!-'ir-'ﬁ-"'lh:r_.-'l HUNJEU

oo

(C) r (D5v0d Db

(D) &rodiTe ;‘d;}ﬁ;t}

= correct match is

SOTRS =80y
T

(A) (B) (©) (D)
(1) (IV) (1) (I0) (N
(2) (I (1) (V) (1)
(3 (Ih V) av) (1)
(4 (I (D) (V) (V)

JbigDeal

List-11
(I) Indole substance
(I} lTerpene substance

(111) Volahle subsiance
(IV) Adenine denvative

(V) Carotenoid derivative

D11
Ly 836'S. o5 ndo
(1) B85 &rnlo
(I w~ay%e Sordo
(IV) s805 ddy9y0
(V) 26'8avonb a8y5y0

Rough Work
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372. Assertion (A) : The RQ value of fots is less than one

Reason (R) . The amount of CO. released is less than the {"i: consumed when ials are

used tn respiralion
Ihe correct answer s
(1) Both (A) and (R) are true but (R) 15 not the correct explanation of (A)
(2) (A) is true but (R) is false.
(3) (A) is false but (R) 15 true.

(4) Both (A) and (R).aremmue apd LK) 1§ the corect explanationw i (A)
R do (A)  : TRPReRO Ne el M glE vy Su S o 0000,

s~do (R) r FRge -i*_gi*-ilﬂdf-.;ﬁ* ey WO wad:ad@ CO,
I@rnosted 0, $oF 8539,

B

ol PO 2T

(1) (A) $0css (R) Bodr PO TN, (A)s (R) 2000w Sadm 58,
(2) (A) HOTHHA %) (R) 20T 0 500,

(3) (A)S0THIL s 50 (R) 580030,

(4) (A) %28 08% (R) Bodr H8 A, (A)Ss (R) 0 Tha Quds,

33. The form of carbon used for the carboxylation of phosphoenol pyruvate in C, plants is

G B ed" -ﬁ‘ﬂ"&ﬁlq‘ﬂ _“_.;::ﬂzﬂﬂf cans) ?Taﬁniﬁﬁﬁsﬁr SETBrASE U)W

grao
(1) HCOZ (2) H,CO,
(3) CH, (4) CH,

Rough Work
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Asscrtion (A) :  Higher yiclds in case of bell pepper can be achieved by growing them
in carbon dioxide enriched green houses.

Reason (R) : Due to higher intracellular CO, concentration in bundle sheath cells
RuBisCo mainly acts as carboxylating enzyme,

The correct answer 18

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(2) (A) 1s true but (R) is false

(3} (A) is false but (R) is true

(4) Both (A) and (R} are true and (R) 15 the correct explanation of (A)

NEydo (A) s whE TEJEEME:}EE‘ a0l b c"’u;ﬁ*!.:-d:' BLEEALES =oddoly
wd¥ Ahoudn rdodSSy

o (R) ¢ doen Sdm foru Swredd CO, vbS mes sdmom, RuBisCo
Eerde™ STEr i T8 w0 S PR

GASATUE alo DT B -
58 %0 TS aees blg a
# Y ] y 1
{E] [ﬂ] mﬂ'l.lj_m Emr@d? i&yraw'r :: f.*\._l‘.r_ { ,_.EE_.-JW :J'iﬁﬁ 5‘5:‘

(2) (A)BOTHHS S (R) DOSHIE G
(3) (A)%0THH8 58 o (R) BOTod8
) (A) 530059 (R) Dodsr H0TRHD, (A% (R)HOTRS D58w

WA v e

. Identify the correct pair of statements

() Niacin containing coenzyme facilitates the oxidation of malate in the matrix of
mitochondna.

(II) Haem is the prosthetic group for the enzyine which catalyses the carboxylation of
RuBP in the stroma of chloroplast,

(1IT) The ¢clectron carrier between cytochrome *C' reductase and cytochrome *C" oxidase is
attached to the inner surface of inner membrane of mitochundria.

{IV) Water splitting reaction in the lumen of thylakoid requires chlorine.

H0ThE srppgo wdds H8os0s

() D55 LOa% bE ISES B&feodcir sn@Ed" 20T S0od ub)50e%
SO SON00

(1) 83 TmHs™d usgEs® 20T RuBP 57078 BLB® 4335080 B ISFLE
S (@R AE Didnorahiom aotied

(1) Zs* 58S C BEES So0adm EE'Ss ulydE Sodg QO§ N T80
2850 @dr SFHO S8 B SO0 FoDE wMEHI A0MN0S

(IV) Bosond 55738 w07 H8 dTHES S8gh F105 wanoo

(1) (Hn, (V) (2) (@, (D (3 (V) (4) (1), (1)

———_

Rough Wark
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16. Studv the following lists concerning the deficiency discases and role of elements

L.ist-1
(A) Die-back in citrus
(B1 Mottled leaf
(C) Mouse ¢ar in pecan
(D) Whip tail in cauliflower

List-11
(I) Ureasc
(I1) Hexokinase
(III) Nitrogenase
(IV) Cytochrome ‘'C’ oxidase
(V) Carboxypeptidase

BAT O SN :.:"“%3".53 0T a*;dam g S wdom & 1Eod srDorod mﬁgcﬂz:ﬁa

Sassod

(A) PdyS" Bews
(B) 595

(0) wsES $7°%inek0
(D) =b56S* 5o &F

The correct match 13
ad H0Thd & 60w
(A) (B) (€) (D

() (V) (o) anp  (@v)
2y (1  (an  avy) @
) (Iv)y vy (O
@ (Iv) () I (V)

aDor-11
(I} oarbohd

higl2a:

(IV) &Y' 'C' u8yas
(V) sopdywRdd

37. Study the following table showing the components of water potential of four cells of an

actively transpiring plant ;

S e S o 2HPElotody 8 Ehnﬁa_ﬂ‘:} Jreo) Sore o 48] BRIOTw
adendd 6 Sob DYSW &1.55-;:‘&::5:: Se50d :

Cell Solute potential Pressure potential
60 Erad 4630 wad ¥
(MPa) (MPa)
A 0.68 0.42
B -0.75 0.36
L ~(.83 0.47
I —{).57 0.29

[dentify the four cells as root hair, cortical cell, endodermal cell (lacking casparian strips) and

pericycle cell respectively in the young roo

t (assuming symplastic water flow through them)

G Teudy Eorods B8 5% Sovodod Swrotio, Soyo £mo, sodd 0] SBO
(5790050 wlw FBHoDH) Ho8cn BOYY ¥mom SEBHM MHYJoPod. (3

Safig oy Sodom YT oSud)
(1) A,C B, D

(2) B,D,C,A

3) DAC. B 4 A,DC B

#"

Rough Work
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(CC) Rhizophora

'I IJI II IIIFIIL Jl'llll.ll |‘I-|.

i
{A) a0
e}

=, —y F
(B) 8%n®

| S—

;-.*‘-’—TI":Hi
* I T e i

L

(D) chodsgodonr

The correct answer is

(A) (1) (C)
(1y (I aV) (V)
(2) (I (I (V)

(3) (V) (i) (V)

(4) (V) (11) (1)

o e T

(12)
(1)
(1)
(1)

(111}

(11}
(111)
(1V)
(V)

(S

(1)
(1)
(111}

JbigDeal

List-11
Submerged, suspended hydrophyle
Amphibious plant
Heterosporous plant
Sol tormation

Halophyte

il
=Tyl

DO Wi won) SO0l

(IV) &858 J858bo

. '_'-'- e ™
T 4003 b2

Rough Waork
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ldentify the wrong pair of slafements

(|} During plant succession, some species colonise an area and their populations become
more numerous. whereas populations of other species decline and even disappear.

(II) Both hydrarch and xerarch successions lead to mesic conditions

(1) Seconduary :aut:;u:'-'.-;im:t is & slow process when compared to primary succession.

(1V) In the successive seral stages, there is no change in the diversity of species of organisms.

205 LRI 25 b 20 u"f:-ﬂ-udu&

{!_I EE}&-U I'I.""I.'_l'. |IE" 130 ':l-l-j"'u"‘:ﬂ't\:'\'ﬁ.'h"s.u E"}\ E.‘I‘ L nﬁ‘jﬂ_ﬂlﬁ 'ﬂ"ﬂ- I'.:;-I"_J"trﬁl'# H&gﬂ
” ™

Aeaw Sdsom edydgdieron

H 0" wWell S :.,mu»; garr' Srdeon

a5 0 L iban, .u'é O o B

() mogsgo, =SEEEP|E550
(1) | Eing ubssicd’ JONSD PG, Bgad wHEdo Iom edikénd
(IV) Srgging (€580 S4ud #5rdo FdFgod” Lrbym 200D

(1) (1), (111} (2) (1), (HI) (3) (1), (11) (4) (HI), (IV)

40,

Identify the correct pair of statements

(1) Functions of sieve tubes are controlled by the nucleus of companion cells.

(I} Albuminous cells are present in angiosperms,

(111) In dicot root, the vascular cambium is completely secondary in origin.

(IV) Cylindrical meristems contribute to the formation of primary plant body.

~O TN Sewge 2dd Mmlodod

() Sedaers Jded dDirfore So|dfo Jdbo@Nod

(I) wespdoScind Swro i) Derod* do&mon

(1) dgovuz S68°, 05 DyregsorS @ Yrim Deodh 68 HEncbod'R Vb &od
(IV) 358 Depesp Smeranen Sul) (EDE diro 20)E00S" & @ deron
(1) (I, (111) (2) (D, (1) (3) (1, (av) (4) (1), (1)

IRough Work
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ZOOLOGY

11 Skin color in mun is ap example ol
i 'r-.._l' -_I ll:n.l.nlp e
Itl"!'- e 1innertance | | O X=1TIR IMNERNIanec
i | . | (o | el
Multiple allelhism (<) FIEIOWOEy
- " LA EeTalah :"F-u-s ".-..l';*i-'-qw--ﬁ

(1) wiroudyg wnoodse (2) Dod Aoy ebdbods
i ¢

TR T .,"" ,_|f:|-|_-_ '-Ir:t |;.I| . "-.r'--":..u |'|-_

S Al a
42, “Malch the { Ju*.\.n.ﬁ
List-1 List=11
AY Alnican sie !':TI:E, Iiﬂ"- e (] L ;

(B)y Dumdum fever (I Haemophilus influenzae

(C) Pneumonia ([11) Leishmania donovani

(L) Parasitic castration 111'-".' I'Fj PHALIOEOTTG SLm;bmee

(V) Leishmama tropica

-, I~ A R
5 L L Gl Fol e B ket e et Bt el
G- wib-Il
. B il n g L=
(A) &DEL sdIE Tg8 ( #~rgd
o E-._.,I—,,.‘-:-‘ S e I-,-'Lf'
(B) dodo mgdo () rATrotw awyg] U
P .l e —
(k) -'.':-J,.'l_..'-f‘r.f'u.{:..-l‘ (L) t-*-:"*-_.-'-i'-'-“ 03 rrter el
| by -
S D gramiy s ySa s moDokiy
Ii“'l ;'\...-'"..!.-J-.a-.- -.:.."',.Ci. | llilj L-'l:-.nl!.n..- 4 bl et W R
(V) Odmddie |bde

The correct answer 18

-

50 038 2 ST D™ B

(A (B) (C) (D)
(1) (Iv) (I (D (V)
2y (avy Un (i) ()
1y . avy (an

4y (I (o) (1) (1V)

Rough Work
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43, The inner lining of the ducts of sweat glands and pancreatic duct i5 formed by this epithelium
(1) Pseudostratified (2) Stratified cuboidal
(3) Stratified non-geratinised squamous (4) Transitional
0 .'.,l'";-...'-l.?:--'_‘-.’- La0 i E' S ,_r';n.-f;: Pl P *J'-::' a0 1 ADSY TE\T —_'3“‘_]&.11:‘-.‘@&
(1) Sorghds (2) S0&3wT5°0
(3) Hod, Sdda duvd duyo (4) Soggodd
44. Match the following
List-1 a1l
(A) Jim Corbett Nationd?Park (I) Gujarat
(B) Kaziranga National Park (II) Andhra Pradesh
((") Mahavir Harina Vanasthali National Park  (1II) Rajasthan
(D} Keoladeo Ghana Nationnl Park (IV) Unarakhand
(V) Assam
LEH.JI-::I g eSS drindi
=&s- SgE-11
(A) 2505 T)E 2dcss 8y M A=od
(B) s=8om arach oy I o (B33
(C) *dE Trdm HHHO wradh 8y, (Il oS
(D) 33rolcir o arade 8y (IV) adopod
(V) ey

[he correct answer 18

ad ROTD BHTETE R
(A) (B) (©) ()

(N av) (v) dn (i)

(2) (I (V) (V) ()

(3) () () (I  (av)

(4) (V) (D (I (V)

Kough Waork
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45, Males produce sperms by mitosis in

(1) Lepisma (2) Periplaneta americans
(3) Apis mellifera (%) I}:-;rwphl!ii mejanogaster
< 20" DEOFuN ogor HIFferw JEydeeroxn

(1) Boey (2) DOIJ» wAbdear
(3) Qo o (4) oo ms =14

db. The protozoan with heliopodia as locomolory structures
(1) Euglvpha (2) Actinophrys (3) Entamoeba (4) Elphidium

T OTrSAciro JoSdhiovesm £DAS Lﬂ*‘h""é"‘: a0

(1) cSarTian (2) ;‘ﬁ;‘., (3) dobagn™  (4) :E.’-;,d-:f.f-:e;
3 110 L
_—-—_—-—_—-—_—_———

47, In the Tollowi ﬁjmdn 1al fumt n'JF Eﬂ?‘iﬁjﬂ cs, 10¢l lﬁhgt““ otal lung capacity
(A) Inspiraton Hr"ﬂ‘.u (1)

(B) Functional residual capacity (FRC)
(C) Vital capaecity (VC)

(1)) Inspiratory reserve volume (IKV)
(E) Residual volume (RV)

(¥) Expirutory reserve volume (ERV)
(G) Tidal volume (TV)

i':-:."‘J-ﬁ'_}bJ 8 u.-:‘&u a--:ﬂau., Q0R0YoND G 500 wYpohidsne oD mb0d8

o8y WO e E Deaod oo s Bodadw

(A oy ‘l-_..n.l g 2o (10)

(0} Lﬂmrﬂls T e FSag go (FRC)
(C) 3&& &g go (VO)

(D)) ao _.:'f.: SB35 aadaroo (IRV)
(E) udds $:35808-m0 (RV)

(F) .‘M*S:: wOd DWandaroo (ERVY)

(G) Bad svevgss (TV)

Fhe correct answer is
ah DITH D arrSdn
(1) (C)+ (E) (2) (D) + (F) (3) (A) + (D) @) (B) + ()

Rough Work
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/B\

48. A Molluscan with caleareous spicules is

(1} Chaetoderma (2) Lepidopleurus (3) Dons (4) Neopiling
=1 0d fobsed SONS Ssovmpda

b

(1) §&*ao; (2) B8w&'SrED (3) 608 4) AT RO

49. Protcus anguinus is an example for
(1) Photokinesis (2) Circannular Rhythms

(3) Effect of light on Pigmentation (4) Phototaxis
@i eoriITgR R A8 Aot O

(1) 5708 edfidee L ;j} ‘%ﬁﬁ’“

(3) $go™ 5708 Dy NS (4) 5708 ®NIWUI0

50. Malc heterogametic sex, XX, XO type of sex determination is found in

(1) Dmsophila (2) Butterflies

(3) Moths (4) Grasshoppers

Sydoh Das vowrdba dof, XX, X0 88 Do Dgrén JUS" ©MD0mA
(1) §FFPe (2) Ber5 Do

(3) Srdew (4) wdades

51, Choose the functions of sympathetic nervous system
(17 Dilates blood vessels, stimulates salivary secretions

(2) Constricts bronchi and pupil of eye

(3) Increases heart rate, relaxes bronehi

(4) Decreases heart rate, increases penstalisis

Stdsdrd ol L35%% Bowodond PO %38 03535

(1) s5>e=o D00, sroreoeo wdso Dbl

(2) avgBd@sess H0dn Soddrdin Howod Sodnb

(3) Frysciy pyodd T o, rivePiom HE Do

Boss Byods Teo dhodob, DOFOLE Y80Ew whse Solnb

(4) S hhy

—— e —— #‘

Rough Work
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52. Note the 'nLimung features and choose the ones applicable to wucherena bancroll
(A) Coelokoic parasite
(B) F[n-,run.m parasite
(L) Monogenelic parasile
(D) Digenetic pamasile
(E) Monomorphic acoclomate parasite
(F) Dimorphic pscudococlomale parasite
208 cfmoi Aenon astodsr wroh % 900V oo Hlodhds
(A) 82250 i}ﬂ*éj}éﬂ
(B) gmao Jovd) =0
(C) s 8Bon SorSy2D
(D) 83wBPon oS 4D
(E) V8drs 360 i 5858 Do ydd
(F) agoagd :;u-g‘s i‘ﬁ- ﬁﬁa
(1) (B), (€K ) Ez@} ﬂ&m :i (4) (A), (C), (F)
53, Mintsatelliles u:"‘ﬁ‘slﬂ 3 e used In
(1) gene mupping (2) DNA fingerprinting
(3} Polymerase chaim reaction (PCR) (4) gene therapy
8¢ UL Fov VNTRoS: adTrioBSs:
(1) wdsg _.m.:.uf (2) DNA $048 [Boslof
(3) ""E'u,r‘fj w Ajowo ddg (PCR) (4) miog VESy
54. Emulsified fats are digested by £ A _pn
(1) Pancreatic juice and intestinal juice (2) Gastric juice and pancrealic juice
(3) Bile juice and intestinal juice (4) Pancreatic juice and bile juice
258 88mo SodS Bg dorgres OSos dd Sokh Todde
(1) fﬁ:d:’ai&m a0 din woEdNan (2) uESdHdo e ?&5:&5&;
(3) BSgEhBn 300050 HO(STDISY (4) §'JogRdn Mduin Hdguodw
55. The factor which initintes the intrinsic pathway of blood clotting and triggers cascade
reacron 1s
(1) Hageman's [actor (2) Anti-hacmophilic factor
(3) Christmas [actor (4) Stuart-Prower factor
wosgighdod @Eyired sodd g aBuodis S5 088 TEfdn JB 7
(1) "2::-::-J=~.:' sUL0 (2) :ﬂuﬂuﬂﬁ*'ﬂrbﬂﬁ s*O80
(3) {B®2w 57G50 (4) Srdg- ('S0 630

Rough Work
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in which “Assisted Reprodugtive lechnology™ (ART), “Test Tube Dabw™ procedure apphoed 7
(1} Zvpore-intrafallopian rrunsfer (Z1F1)

(21 Gamete inuafallopian transfer (GIFT)
(3) Intracytoplasmic sperm injection (ICSI)

41 In vitro fertilization and embryo transics (IVFLET)

o . - B = = - L 5 o i P = ol an I e ; o
*Sdageng &eassg roBaga” (ARD) Derdod’ B gt 20" (20405 Q)
NEsdehE O LuE' an saocBaroat

(1) S&*Bchs Swrodl Boaing b ood (ZIFT)
1 3P BaE erods hodrd D wad (GIFT)
(3) fnds (G3g0d's Higdmols aoBE Tdhdo (ICS)

IS

57

™1

(4) 488 wodvp sobidwo - HodSrsyd (IVEEL
Choose the correct nmiﬁﬂ-iﬂ.j—n ' AN |Gt v Gl 1 001
(A) Flippers of W Hale and wine ofb | :nl:}gEﬂ
(B) Wing ol buttertly -Mﬂ.u of bird exhitil homology

(C) Organs with dissimilar structure are called analogous OIgWns

(D) Organs with simllar structure and ongin are called homologous organs

(1) (C) and (D) 2) (A)and (C) (3) (B)and (D) (4) (A) and (B)

A3D0 TN S sopodods R0Gha SELLORN a0 oS

(A) @lsodedn SG> WOxg Sabcsn AD oSN TEy wrodls DE0aT0R

(B) he 5 50w ady Sa0uin BE O ' Brodis Lﬁdﬂg%m

(C) Romy® DIagan No wiHdharod Edrirdag uSsouoaTol

(D) &3 5D Hips Sdam Qo7 A 4Ons edchroi Vone o8 eSHahoreotrd

(1) (C) Su0cdo (D) (2) (A) S0 (C)  (3) (B) isodin (D) (4) (A) 4058 (B)

58.

with reference 1o Phylum Echinodermata, identify the classes which have Pedicillariac.
(1) Ophiuroidea and Holothuroidea

(2) Crinoidea and Holothuroidea

(3) Holothuroidea and Echinoiden

(4) Asteroidea and Echinoidea

JEE’EG*EH' Eg‘ﬂﬂ Lomodow RARNTITTOL EONS Jurnrua ﬁ;gadﬁﬁm
(1) nBcduoronddir 5308 S Zservond iy

(2) 3 growdoiy SbEn st dsoron ol

(3] 2#:'3"&;':?::;-:-3-:;5," %08 JETonddr

(4) DHoroxnddis DOWN o & rond dir

i —# —————————

Rough Wark
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. Dense regular connective {issue 15 present in

(1} Pencardium and heart valves (<) Lipaments and tendons
(3} Juoint capsule and Wharton's jcliy (%) Penosicum and endosteum
oSy |Fdrdind DoTirns fneroo S Ao '
(1) o yEcdiaorddo 8 D20 fod Saobiros
(1) wodgaes g -"J‘l‘.-fa.-. TR T TSN
(3) 8¢y M0y Scocn o ghiaY
v
{4) I.rl.".:.:‘.\.: ¥ 30 cdiy :.Juﬂ"'%l._'l:'.:lu

6. The secondary stem cells that produce Neutrophils is

(1} Erythrocyte committed progenitor (2) Granulocytesmonocyle progenitor
(3) B-cell commutied progenitor (4) h'!t:gnknn'uhluﬁt

f,rL_u o ¢ o Jﬁah_l,_ ) gl

(0 o iEsmenngy - a%gg ﬁr&d‘ S ArS D (SEILE
(3) B %S TagNe- =

'a '\-"I

61. Mutch the following

Set-1 Set-1l
(A} MNatural active immunity (1)) Develops due to vatcination
(13) Noturnl passive immumnity (II) Anti-rabies scrum
(C) Artificial aetive immunity (I Acquired nifter smalipox infection
(D) Artificial passive immunity (IV) Trangferred from mother to child
Bolaad wdBdadedn

w51 w1l
(A) e Bdirlo §'0R0'E5E N édse oo S)Q oo
(B) Sara 5o 5'ARNE'SES () cirod-orB RGo
(C) Sy@s [Edrks SHDE EES (1) SArd FES DING IO
(D) ¥\B%: Bp BB SES (IV) 88 208 DEH B0 wHFold

The correct match 15
28 RATHS FdoY

Ay @ ((©
(y (Hy @av) (am (@
(2) avy @ (M an
(3) 1 (D (IvV) ()
(4y (. (avy (I (IT)

Rough Wark
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lI'l..l. h b | L1 LRFiL

|.151=1 List=11]

anatic bong (1) Koevetone pone of cranium
Ry Lacrimal bones (113 Cheek bone of cranium
(i} Parietal bones (111} Smallest bone ol face
DY Sphenoid bone (IV) Rool of cranium
(V) Floor of cramium
o) =andidine

_;‘.:;;_'.| E.F‘.«LJ,

(A BRARSE Dy ¥ ; B R T B WS Dy o

(B) w® wion (lI) Sdroo6’d) Jod Jasen
i L s FI-F &
(') Hrgrooen () Sup iod” s8 O 50
- o . I E - '1I-I-d-
DY Sasdaho (IV) sdreo £55000 w5a)

(V) Ede B8 ario

e corree! mateh 18

(A) (B) () (L))
(1) (i) (1 vy (V)
(2) (I {1y (V) i)

(3} (1) (111} (IV) (1)

(dy (1D (Ivy ih (111}

“_j‘ |]i'-|.' ::'III:I"'|';|_|L.-F |1| !4”1“-1“ eve tll-r"..‘.lillll“: LI“:I'I“]I'-,,;_::‘ i'l_'r 1,|]|._ i.llﬂ,!;i";ﬂlh,irﬁ ||'|‘!- 1h||::'l‘: 'q-t-l.lntl.]-ll Nnerves

. i o o, St = Y e -
Er S5 Lo o i orrg; L: 'I.Tlil'“-' & ro) __:,-,5 :1'1-"'-"'-.*&-'# 'L:'--J.-' o= l:;_---.d._uﬂv‘

(1) IX. X. IV (2) VL I, X (3y I, 1V, X (4y 1l IV, Vi

Kough Work
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64. Match the lallowing

Lixt-l List-11
A) Leydig cells ) Carry sperms from seminiferous tubules to vasa elierentia
(B) Sertali cells (I1} Nourish sperms
() Kete testis (111} Secretion of lestostervne
(D) Corpus luteum (IV) Secretion of progesterone

(V) Secretion of oxytosin
|3 o8 T = Aty
=T | ﬁg.:l#'-ll
(A) DAF oS (1) HiE Eerol HiE e 8 PP D04 ?'E;Lﬁ:rﬁﬁur'j‘":;
S8 S0
(B) w&'0 e () HE Swrol o
(C) 08 Swho () BERor ol HAove
(D) 5635 erdicoo (V) @RS (3o
(V) e38*0% [plodis

I'he correct match 15
20 R05hwe - dowy

(A) (13) (L) (L)
(1) 1y  (y (@ (V)
(Z) (1) n ) av)
(3 (M an ) (IV)
(4) (I @y (V) av)
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65. In the life cyele of Ascaris lumbricoides rhabditiform larva undergoes 2™ and 3™ moaultings

11

(1} Small intestine (2) Liver
(3) Heart (4) Alveoli of lungs
200 csoiDronds A0S S|fod" o008 dofEden 235 Jo0Tin 33 BT S ares
ad e 2dinfioea
(1) 1.:1-7::":_ il (2) 5o oo
(3) Mod (4) &#Do8Hod Y Tdw 5w
- 8 - Y = EREe gD ER
k|

66. Statement (S) : Lanc@®E are jawless, pnmilive fish like vertebrates.
Reason (R) : In lancelets notochord, tubular nerve cord and pharyngeal gll slits are
present throughout their life.
The correct answer 15
(1) Both (S} and (R} are correct and (R) 15 not the comect explanation to (S5).
(2} (S) is correct bul (R) 18 wrong.
(3) (8) 13 wrong but (K) 15 correct

(4) Both (S) and (R) are correct and (R) is the correct explanation to (S).

LY ]

Fape (S)

0o (R)

3B A5de B Dhoorod) rEinE DEFSERS.

i
Fa

{':l'

38 :L'::M'IJi w =-..'_‘ a0d0, P ine E‘&ﬁﬁdu ST Te A ||_l'r|- ﬂa.u.?lﬁ"

Dic; 200080 Sodrow.

>

ad ROTHA BAreRo

(1) (8)330a3: (R) Bosr HOTH&SR 570, (5)% (R) SO0TRE Jkdw s+,
(2) (S)R0THNd 50 (R)ROTHDE 3.

(3) (S)20T38 & =23 (R)DOTBSL.

(4) (S) 20030 (R) Todr R0ThE: (5)8 (R) 9OTRS 2a6,,

L

Rough Work

AM2014B 19 R



67.

6.

Download from JbigDeal

/8\

Muatch the following with reference to Adapmations

List-1 List-11
(A] Sea gulls (I)) Chlonde sccreting glands
(l}) Kangaroo rat (I1y Water cells 1n rumen
(C) Turtles (I} Salt excreting glonds
(D) Salmon (IVY Oxidstion of fats (o penerate water

(V) Anadromous migration

girodols Hosodond O |Eobords addladelie
SSE-1 ode
(A) & i {1 .;h (30 97 g
(B) Eom g H!ﬂ' H&r-qhn”‘ﬁﬁﬂﬁi!ﬁ e
(C) &8sy (ll) cum dngs Hoghwe
(D) >e3% (IV) %30 ulyiso Soodbo orgor UM ad4E

(V) ea@ae Sus
The ¢orrect match is
sl HOSLS £'80Y
tA)y (B) (C) (D)
(1) (U  {av) (V)
2y (n avy (mnm M
(3 {m an (@ (V)

(4 (N Wy adavy (I

Which of the lollowing helps (0 maintain specics diversily in 4 community 7
(1) Facultative puarasites (2) Omnivores

(3) Predotors (4) Herbivores

L€ HAruod'd wéio o) Adgrowdodt E'dEER [Bos SRS W02

(1} 34DN\E Sordy 2Hw (2) JoggE e
(3) wogsorw (4) SEgderes
m—= == =—— o= o
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69. Which one of the [ollowing is the first step in allopatric speciation 7
(1) Polyploidy (2) Geographie isolation
(3) Hybndization (4) Genetic dnft
w88 BHRTHAS Xardoo 4818)5" Tdd Totn 207

'|. [
(1) Orond (5w T 8S) (2) FR'PY DiES

:
43

‘-
-

l.'!l'l

(3) mosdmo (4) 22

70. In Periplaneta, which one of the following helps to nourish the sperms ?

(1) Utrieult brevores | ~ {2) Ejaculatory duckn,
(3) Vas deferens Ih:m _ Ul@-ﬁmm

Y N % -= :
-inﬁe::""'_'tﬂ"ﬁ‘ & S0l *‘ﬂé‘i- BEfcre Fand S'Ebdeon
(1) Su|@¥pD D8, (2) Bpodado
(3) Hifoirs (4) So@y® el

71. In Periplaneta, ductus ¢jaculatorius of male reproductive system lies in
(1) 6™ sepment (2) 7" segmenmt  (3) 8™ segment (4) 5™ segment

RO RS DR |DEgs 8 SgSdubods Jadey By o8 Yo AN aods
(1) 62 goddo (2) 75 poddo (3) 8BS poddso (4) 55 poldéc

72. The type of syngamy seen in Trychonympha is

(1} Conjugation (2) Hologamy

(3) Anmisogamy (4) Isogamy

D95' 203" mifaDowd Doding HoTry 655%

(1) Hooswny e (2) &S A&

(3) BHBSNoTrAdw (4) S BoTWriSw

73. The biochemical procedure used to detect hiuman chorionic gonadotrophin (hU'G) is
r5 50 uirNs Ml 'SR (hCOHLM 1600 H& D 4D T N0 S50 0kd Dedsw
(1) ELISA (2) WIDAL (3) CAT (4) MRI
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L] | I
i
LR
% -
1 ! -
- e =1 ™
|
|2 & ¥ i

T8, viatch the J---f!u'-.'-.lru:'
|.ist-]
(A} Down syndrome
(B) Edward syndrarg8
(C1 Klin®felteris sypd:

g § -
| !.}I' I; ekl o fahih Wl E il
o

(EY Turner's syndrome
i ¥ =t o, uf
&) i-'u--l:-.- —':'- "'-'"'L"'”

(A) 8% ol =2

5 o L
'i;: _._.}"" ] ol e
al LS
' i i
(C) Sw QU0 20|@ =
- s
- vy
L) Re RS
A a—i 1
:'I | SO0 L e
. - -

I'he correct match 15
216 R0ToR S'Gow
(AY (B) (C)
(11 (IV) ) (V)
(2% (I (v) ()
(3 (I aiy {dv)

(4 (IVY (1Y (V)

e

-

ol i
o Rt il

{12}
(11T)
(L)
(V)
(11}

List-1]
(N 45. X
‘:ﬂ.r ""?4 };-"M :

'
-

(M 7, X7 (€

(V) 47, XXY

(1) 45 A

(I 47, %X, +13
(TI) 47, XX, +18

(V) 47, XX, +2
(V) 47, XXY

(E)
(1)
(V)
(i)

(1)

JbigDeal
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76. Choose the wrong statement with reference to subspecies
(1) They show minor variations from parent population
(2) They do not interbreed with individuals of other species
(3) They are new spcuie:; in the making
(4) Cieographically isolated population of a species
Gwerd vioros vowodoud Bos TP D508
(1) 2l 2355 e 2o S50 :F:I';;'_.';I -_i..’“f:_;':.i; Bod oo b o
(2) s =288 arvdie 55%:}6‘ at:.ﬁﬁ@mﬁbm
(3) @ SOTFOPSIDY E‘g 2Tl 13
(4) o€ a8 WY, TROE D35S Todd aay
77. Erythropoietin 15 a hormone produced from
(1) Kidney (2) Thymus
(3) Pituitary (4) Heart
0|8 JrondS H5E5 8D 08 4SS S
(1) S ghodo (2) BHD
(3) Darpsd (4) Ho03
18, Intra abdominal testes are found in

(1) Canis and Felis (2) Panthera and Equus

(3) Macaca and Macropus (4) Balaenoptera and Delphinus

addo ' Ho VP ROV S¢S aoceron

(1) =35 S8c%» OB (2) Sodo B9k B8R
(3) Sos°F H0din S 505 (4) DodRor oax BOYS
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70. Maich the lollowing

List-l List-11
(Part of nephron) (Function)
(A} Proximal convoluted tubule (I) Impermeable to sodium tons
(B) Distal convoluted tubule (1} Impermeable 1o walter
(C) Descending limb of Henle's loop (I1) Faculiative reabsorption of water and Na
(D) Ascending limb of Henle's loop (IV) Reabsorption of nutrients and Na’
EodaI) 2aBinidD
R W Sl (S5)
(A) Hhes HooDBTE o NP Eabsssc ot udGidogs
(13) drﬂ‘L:': SosDd>rCo (1) &8s Ei.?‘t:if"ibhsd
(C) T2 55 eS8 2 IrD) () wds, Na'e JE0,58 A i
(D) %vd) %559 wb'or I (IV) 2'ase, Na'o 9ad'jhe

The correct match 18
ald BOTRR =aoR

(A) (B) (C) (D)
(1y vy (1) () (TII)
(2y (1 (avy an (@
(3 (U (avy (1 (1)
4) (vy (am ¢ an

=5

80, In Alpha Thalassemia the gene HBAI is located on this cliromosome
wory dobyewrd” HBAI edgd & (5Bt Ss DS oS

(1) 16 (2) 8 (3) 22 4) 9

Rough Work
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PHYSICS
81. Five resistances are connected as shown in Ggure. If total current flowing is (0.5 A, then the
polential dilferepce ¥V "n"“ 15
DHIBG” AIAS oSNNS D8 G dves Hoos = o e ad . VES oo Ln:'-.u .}‘mj',":* :'"":""'E.""
g8 (Hevwro 0.5A wond S BYoS HGo V, -V, Dess
6 [ohms) 6 (ohms) 6 (ohms)
PR AM—AN~
A .f"f f johms) R,_.f. ., - L.
e — M- ____IJ.:: i oA
BEA N e NS Ol ~ B
: .8 E{ﬂhﬂl - — '“‘- | ﬁ: me )
' v YV TRTAY
(1) 4V (2) 8V (3) 6V (4) 2 ¥
82. A particle with charge q is moving along a circle of radius R with uniform speed V. The
ussociated magnetic moment p is given by
undon g od €20, R mgﬁ'd:&m o LE HYEB0D DErS SE VE Bﬁamé:.ﬂl{:.
@aE 40d v o8 [Prindsa |
I 1..2
(n -9 VR (2) ?V"‘R
83. A wire of length L meters camying a current | amperes is bent in the form of a eircle. The
magnitude of the magnetic moment is
| woDahd .'.'Ju:.-ﬁéa:ﬁn arcindsy Lo, @r8d) o a8 8 uﬂﬂ‘?ﬁhﬂu wowudn,
E.._qu. araest @eaicd®) 08 (27308 DBIreSn
LI 12 L L%
(1)} = 2} = 3) ) —
47 ) 4n { 4n° i dn
e —— ————
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'he mator coptnbution ol Sir C. Y. Raman 1

| ..1- -:.. F i -
) LExplasation of photocicetnoe eliect

(2) Principle ol buoyincy
(3) Scattering of light by molecules of n mediom

(4) Electromagnetic theory

L ] o -t
(1} =08 Jlapd DD ol -
“ r
- toox o > it
Ll v g LLIN-...

(3) G5 eSE mmes oot B BER S

'] E :

i [P & g g = - 1

||'|| l:-,hla:l_h.lhh'.r.-p J'--'l-\.l.: lul—!‘n—rl—'-ﬁr--
L i

- -

If the absolule crrors in two physical quantities A and B are o and b respectively, then the

absolute error tn the value ol A - B 13

2 Ba i

Hads e ove A 33005 BadtD 26d: e S48 o S:00dn b woxnd,

&

= L [

- . . -
A=B adoede s abis 4 a2y

(1Y a=> (2} b-a (3 axb (4) a+ b

A particle starts moving from rest with uniform acceleration. It travels a distance x in first

2 seconds and distance v in the next 2 seconds, Then

[ ol e i
e s Wiy, &
wf il e g
W

¥ = r = rei - T -
Nogv5:% 8 2308 i dH .:i;ﬁﬂﬁninu qu.ﬁ:‘r!".:a&__n:lﬂ ol Tuaa

. = - o 'y il ; " " =i ol s i el e .
2 TE5S x Erdis (BobrdoDIn, SoDokn 8400 2 DERS” Y ATOSN (REEoWN 0.

TR

[ =

(1] = 2X (2) ¥y=3x (3) y=4x (4) v=x

Rough Work

AM 2014 B 36 R



87.

Download from JbigDeal

At ume t = 0, two bodies A and B are at the same point. A moves with constant velocity

V und B starts from rest and moves with constant acceleration. Relative velocity of B with
respect to A when the bodies meet each other is
- o iy . & i E ol - - rar, . . P
o0 1000, Tod Spos A S0y B E Hoddy 34 AJ3w. A $B3%) \ w
=

'f_'-f'f SHo& N ban B c.;u.ﬂ- a) :!F’f V3 :]ﬂ- %108 oot ?h:-lﬁ éﬂ'ﬂi"‘ o] Ly [_f:l ::'5_'1' i

|,
£d,
- s
L4

@ Tod: Ser DIV ¥ uf NS HEEL EooluSl i B3R o

(1) 2V 7 DiYy: fgﬂ

tod |

4 V

A body 15 projected horizontally from the top of a tower with a velocity of 10 m/s, If it hits
the ground at an angle of 45° the vertical component of velocity when it hits ground in
m/s is

LE AT 050D 2od 2.5 350 82 SircdSom 10 2:/% SK0d (S50 Jabndia.
28 Fd 45° Fodes’ ov8d, @b wrdd ool HSc5h0d" Ido Ty, 2 8a vow

wofdn Jsodst

(1) 10 (2) 1042 (B) 52 (4) 5

89,

A body is projected with an angle 8. The maximum height reached is h. If the time of flight

s 4 sec and g = 10 m/s®, then the value of h is

08 00" w8 Sk (HEDED Thwdso. w0 ToS 03 J& h 66 mOS* (Sairdo DS
Sdo sodn 4 DISoor S0 g=10 B/T° wond, 63 pas h Dess

(1) 10 m (2) 40 m (3) 20 m (4) S m

Rough Wark
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A .

90, The linear momeéninm of a particle varies with time t as P=a + bt + ¢t". Then which of

the following is correct

(1} Force is dependent linearly on time

(2} Velocity of particle is imversely proportional to time
(3) Displacement of the panticle is independent of time
(4) Force varjies with time 10 a8 quadralic manners

- : - -
8 Smuw TRy dbat (& & :;E Fridn sroo 188w P=aibtteot* 3T Srtadact.
Hlis‘,'n..."’ﬂ.l Lﬁdﬂ' aaleS e 8 b 'lj.-.-r.l :-:;"n.."'—'-l-g'

i - o o o ™
1-T' Etl"-l--'a- ..'-:.- H.ﬁi.: ot r "q.‘-.',.,-,'.!;:_. = i hr.f—li S ™1
. v : r | . ﬁ oy = g
(2) S/ TROT) D Soa ﬁ@r&f‘ “%_# Potood
. d ~ —
(3) S ,'-.'-';":!r;-f‘.-‘ |2 O30, F00 - Mg '
g

(4) mode, stood'irds Bodd srdom Srdsdich

91. A horizonial force F is applied to & block of mass m on @ smooth fixed inclined plane of |
inclination O to the horizontal as shown in the figure. Resultant force on the block up the

planc is

8 B SSr0dovRs O oo Fodn o RUTN Soi)@ oo oo i) m S&get
Ko o8 835) 2 Dhsnd’ GBS Do, w8 f8e Sarodd nosy Fﬁ:ﬁa‘m.ma.-&mﬁ
Sodn i 5 SO 2 8030 908 vodn

-

(1) F cos B - mg sin O (2) F sin 6 + mg cos &
(3) F sin @ = mg cos 6 (4) F cos 0 + mg sin B

Rough Work
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92. 'A body of 200 g begins to fall from o height where its potential energy 1s 80 J. Its velocity

st a point where kinetic and potential energies are equal is

(1) 1048 m/s (2) 4 m/s (3) 400 m/s (4) 20 m/s
80 ) 8w 35 204 amy AW g (853078 Ao a8 SN =8 J& Nod Daso

ugofonod, RBx 45 HOEN Moe FHo DSrIBod Do) 3¢ ovd Frsw

(1) 1048 /% (2) 4 dof% (3) 400 Do/ (4) 20 H3/=

 fired ﬁ a-wd targel. It penetrated into

93, A bullet moving with lﬂﬁlﬂﬂt} of 30@,5

the target W the extent of § meicrs. IF the same bullet is fired into a target of thickness

5 LJ - . |
5 meters and of the same material with the same velacity, the bullet comes out of the target

'L:’iih velocity

3042 & K08 .5 S8 Hoth oK REDD uﬁsﬁrﬁ‘ﬂ! RONn83B. b o gins'0l

S oo drdo T8 Do d. oo daard dodod, T i}m'cgué‘ Sohod %ﬁ:

23080 £0NS vEgod 0l oT JH0d' O S wond, vFgo Sod S8 Mok BubeS
Sl yd P o) Jiido
(1) 10/2 m/s (2) 20 m/s (3) 30 m/s (4) 202 m/s

74, Keeping the mass of earth as constant, if its radius is reduced to Elh of its initial value,

then the period of revolution of earth about its own axis and passing through the centre, in
hours, is (Assume earth to be a solid sphere and its initial period of rotation as 24 hrs)

|
wrds (E5g0780 Yoo Hod, o) FEFrgSus o0 FO IwSS T8 dodh

Shs, o3 ypd ¢rd Bo|fe oipor TS ol w¥o Jowd, Frd Vel (FSerSES
Podn fobod® (Frds PdA'¥o ulake H0dn ol 80 FHhodds sode
24 dobos w5 Sadn)

(1) 15 @) 12 3) 3 ) 6

Rough Work i
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circular discs, cach Ol Mass M and radius K are Xepl in CONIAL Wilil

| hree unijorm
< us shown in the figure; Moment of inertia of the system about the axis AL 13
& 55 M (E5e008, R sva g Sn 003 Sard) 55008 J)ens o) 2V e
2 i L il ol -x el - w L - ™ -
o - o i By A SLAD. ABesSoeCimo NE - A IR
= Jr- gy B __I- ] s . = 4
|
A
o I.IIIIIII - .\%"ll
| L] II - |
l -
S
& I
i
i3
. . . L1 ,
(1y —MR* (2) —1MR
li =
i . MR*®
' J3
96. 1f a body is executing simple harmonic motion and its current displacement 13 —= LLMES

the amplitude from its mean position, then ithe ratio between potential energy and kinelic

gnergy 18
A58 5208, TR (P8 R (Do

=

Aoedss do DEy

LG
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97. At a height H from the surface of the earth. the total cnergy of & satellite is equal 1o the

potential energy of & body of equal mass at o height of 3R from the swiace of earth
(R = Radius of the earth), The value of H is

e a0 S0iN M0d H &S e ¥ AVAT DN TnY; Bodo 74, 3

¥

5308 3R J83S" &Sy HEAS BEgoi fo S/DH Gy B

H =& (R=doan ;j'g;:r-un:.‘::-:-:}

K . -~ 4R
(1) 3 (2) R (3) 3 (4) 3R

T -
cogth HE:I ¢ Bross-section are joined end
to end 10 form a :ﬁmj&_ﬁw%ﬁw I'he ot .,;;!'"‘ o Wil

load is suspended from YW 0ther end. If the increase i leagih of the composite wire is

98. A copper wire and & steel Wirs of ik S0

»drom o rigid support and a

24 mm, then the increase in lengths of steel and COppeEr wires are

(Y, = 10 < 10" Nim?, Y =2 = 10" N/m?)

L8 DEAI Sr0asn ¥ vd B'Sdo vd oon 84 S0 udn oY Ro) 8 LEod BSE
WO fodnd Docing 84 JE855. & Rodkon) o Ty, uE VS0 5y s
UErdan 08 SerdAabed, 287E D58 Fod sr85s Soddcbusso. & doddan
SN D EHS* Dhde 2.4 .5, vond nes, oA 8de 3EHS* Ddhilidom

s T g (V] ok - § 2
(Yo =105 10""N/m?, ¥ =2 k10" N/m?)

3
£

(1) 04 mm, 2.0 mm (2) 1.2 mm, 1.2 mm

(3) 0.6 mm. 1.8 mm (4) 0.8 mm, 1.6 mm

99. Under isothermal condition, energy k is supplied to a soap bubble of surface tension o and
radius r, to double the radius of the soap bubble, The value of E s
Wado ailifiey LS, r g ddn L300 o sodass fe maony wsdd Tl
TENEDY Doy Fakuesh E 48 %850 FohndSa. E Dens
(1) 12nr% (2) 16nr'a (3) 24nre (4) 8aro

S — e —————————————
Rough Work
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100 The length of a steel rod is 5 ¢m more than thut of & brass rod. I this dillerence in their

lengths is to remain the same af all temperatures, then the length of brass rod will be

i

(Coeflicient of linear expansion for steel and brass are 12 % 10°°FC and 18 = 1FSC

respectively)

=
4
6,

2 E - % _ '  Cyples o L
o 54 Doy SéH, w¥ add I T, DE[HET) 5 VoL, LJERS. BN
~

g ol FréHo gy BEZw 508 A033TID), add 94 24
0dinnddo By agh S Mnsw SN 12 % 1079°C 26 o2 18 % 107°7°C)

(1Y 10 em (2) 20 em (3) 13 cm (4) 5 e¢m

= T

101. A block n"tﬂ‘&?rnnﬁﬁﬂ Lgisshdingon a hnre ane. 1t starts with speed 5 m/s und
stops after mos ﬁ]ﬂ_{ﬁlu;th come disUIREE. The miss b lce that has melted due to fnction
between the block and the surface is (Assuming that no cnergy is lost and latent heat of
fusion of ice is 80 cul/g, J = 4.2 Jical)
50 &, (6508 e a8 So0 Oy w 8= sarodd dude ™ wdisr Hob.
Wi 5 857 568 puhwdo Fod Erdo §805 Sdhord ehFFoxnod. HI D000
Soo Hdgio pduded (EAFIoDS S0 (EBg0F (F48° 53 30 BdHE Snw,
Ss0d (EAFSS dop S 80 Bodo/(mdxn, J=4.2 Jcuh)

(1) 1.86 g (2) 2.86 g (3) 3.86 ¢ (4) 0.80 g

102. A Camot refrigerator extracts heat from water at 0°C and rejects it to room at 24.4°C. The

work required hy the refrigerator for every 1 kg of water converted into ice (latent heat of

ice = 336 ki/kg) is

L8 s*{i‘l ug;.;zﬂe:-m 0°C i’.ag ST a8 Sed h;}*ﬁl Lﬁb*u-ﬂ. 24.4°C 26 o8
Ay 25000, WHFDoDS (B3 kg V82 PHRTLEE BI0LD D (S0
DINYSH oty Sw =336 klkg)

(1) 24.4 kI (2) 30 kJ (3) 336 kJ (4) 112k

# —
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103. Heat is supplied to a distomic gas ai constant pressure. The mtio belween heat énerpy
-;uppl:t:d and work done 15 f',- for tjltl!ljﬂllb.' gas = ?-'5]

-u.'r-.-' éﬁlﬁ.r- I:“.-ﬁ & U.lJ.lHJ-Eu fl’g. ..-.."‘u Humﬂu T";'-F “U"j
<

F".

D8 e D[S ( 5h~‘.}.a:‘m§ BRI y=7/5)

25 (2) 3:4 (3 2:] (4) 7:2

104, A closed pipe and an open pipe of same length produce 2 beats, when they are set into
vibration simultancously in their fundamental mode, If the lcngth of the open pipe is halved,
and that of closed pipe 15 doubled, and if they are vibrating in the lumiﬂtm:nluI mode, then

the number of beals produced, s ﬁ
28 '-111-;{‘1 fe S ﬁ'{, s Jggm. @ﬂ, ¥ BBE* HE sveods

"'u...:-u.:- L) 1.:111%!.3- b t-r--.-d-.i-ww v .J--...-.nu....n..- O O wm -....lu- a{.ﬁljn_"i p.'l-l":l;i -..-Jcluiw
Sovied Qo a8 DYooy dohHnd, 8l rEds ﬂ-:ir.ﬁ’ EodSo Inidydypds,
SoTydS wond JIDjedre Dogg

(1) 8 2) 4 (3) 7 (4) 2

5. A concave lens of focal length [ forms an image which is = times the size of the object.

3
Then. the distance of object from the lens is
Fargrgodddn S0AS wi sy $680 uf SHHY o H0IrRs %i& ~eL Y
) (D8DowDy IS8, D P b0 &R0 Sc0d S8 drdo

(1) 327r (2) 21 (3) f (4) 213 ¢

106. An astronomical telescope arranged for normal adjustment has a magnification of 6. If the
length of the telescope is 35 cm, then the focal lengths of objective and cYe piece r:ﬂl]c'l..ll'-f:ijf

Al
LEphA'Y &rcds 2 Dayeas ::g:wmﬁ‘ S$E0NID PE %) WBED I 20 6. ErESE D
S35y 35 em wowd, S5 fb¥o S0 i fhso Tgudorw Sdonnr

(1Y 30 em, 6 cm (2) 30 cm, 5 cm
(3) S em, 30 cm (4) 40 ¢cm, 5 cm
R
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107, In Young double-slit interference experiment using two coherent waves of different amplitudes,
the intensity satio between bright and dark fringes 18 3, Then the value of the ralio of
amplitudes of the waves thot amve there is

Al dond S0D8es EDAN Tolk Hond Adomroi SHaTrhod ooh =

l'r

:...;...-.,".- Li: Mo o ::l':l'-" h..- e ] ¥ :'_I“E fa] .- nﬁ:'-"ﬂhutﬂ d}gﬂm@ ﬂt-"l-."'l-..l-r.i.n l.-.-'-a'_.,.-Elil '.5 'tj
ol D58 0% 48 3 wonddyd 68 d VT S6ome Kois HORwdse IEHT J0D

| . J3+1 Ji-1 3
(1) 1:J3 (2) N (3) | Ba (4) 3:1

108. Workdongin Luﬂjjnﬁjn -.,il:u. Q ultu. I-..HII]-J & cit®le of radius R with a charge
Q, 4t the Eﬂiﬁf i}flht LlldL g
‘ﬂ»..lu.iu - - " O LB

5 0,9 g S0 -.t Sy Ean Joud Q, aRdSeie
LE8 Sobo E}:L:E*::I :31@4!“5‘ #BAS *:5:::'

| - Q9

109, The capacitance of two concentric spherical shells of radil R, and R, (R, > R} is
R, S:bdix R, (R;>K)) g Snos SO0 ¢ dobch Ryad S8 8300 Ty

73-‘.1"""‘1:1&5_'} o B3 2%

(1) 4ne R, (2) 41'['Eﬁ R:
R.=R R_R

1 dmE -~=-—l‘ 4 4n e 1

3) "SRR, () ""Ter,-R,

110. A ‘wire of resistance 4 Q is stretched to twice its original length. In the process of stretching,
its arca of cross section gets halved. Now, the resistance of the wire 1S

A DB S 5 o o8 Bd o) D SRS BP0 NEH) wSL PASRAE IO,
é yiBodu Yod, $ggd s Brege Do wonSs. aSpa, o o1 NG ¢
(1) 40 2) 80 (3) 16 Q (4) 18

-_#
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111, If in an amplitude modulated wave, the maximum amplitude 18 10 Volts and the modulation
index 15 2/3, then the minimum amplitude s (in Volts)

p8 God D08 SrdgTan ddodod’, M0Q Sond HOWE 10 Fooy SoOU
E - - ’ F 'S = - -y H &

:‘..:"ijé;f..‘ah oW 2/3 BonR 5-‘3@ fona 208 0D (& E.-.:t.!-u"']

(1) 2 (2) 7 (3) 9 (4) 6

112. The truth tables of logic gates (A, B, C, D) are given here. Identify them correctly

84, orgore Basy Ju D8Ew (A,B,C,D)S" adgngron, dd S8m M Hhods

(A) Input 1 ﬂut’put" & (B) '* lopat __[ ﬁulﬂli
gt |higlieal
0 0O 8 ‘ ' N ¢ 0
0 | | 0 | 0
! 0 ] l 0 0
i | | l | I
(C) Input Output (D) Input Output
A B Y A B Y
0 0 | 0 0 i
0 | 0 0 I I
I 0 0 | 0 l
l ] 0 1 i 0
(1) (A)— OR (2) (A) — OR
(B) — NOR (B) — AND
(C) — NAND (C) — NOR
(D) — AND (D) — NAND
(3) (A)— OR (4) (A) — AND
(B) — NOR (B) — OR
(C) — AND (C) — NAND
(D) — NAND (D) — NOR

h
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113. For the nction of 8 CE transistor, (E = emiter, B = buse, C = collestor) the required CB,
EB junction bias condilions ang

(1) EB junction reverse bins

L'H junction forward' bias
(2} Both EB snd CH junctions — forwird bias
(3} Both EB and CB  junctions reverse hins
(4) EB junction — forward bias

CB junction — reverse bias
Ly FF.-L;:-:%};EE (S fod Fal(E= aa*da, B=agoo, C= wEod) avhe LB,

EB Sod:o paird ngﬁ:u.-
(1) EB Bof - 8538530
CB 2o« f{}S‘a.-,'u L
(2) EB :!uuﬁ CE o drm Rede ma‘ﬁa
(3) EB 3:0 808P Hogie: Bodn - 884630
(4) EB 200 - 9o
CB &ab - Hﬁ*#fgn

114, The nuclear fusion reaction between deuterium and titrium takes place

(1) st ordinary temperature and pressure

(2) at low lemperature and low pressure

(3) at very high temperature and very high pressure

(4) when the lemperature 18 near absolute zero

44°0c8:8s o8 dk BOBHSs Sag8g To(sY Doblo Jdg wOTD
(1) F3rdgDon agifs Sods badsve 3¢

(2) S%% & Hs oais SIS LadSne 3¢

(3) oo s aFifd Sobcs wd €S DESINe B

(4) adfdé Ldddrag agifis Lo ad s

115, If the wavelength of light that is emitted from Hydrogen atom when an e[m:ll:nn falls from
orbit o =2 to orbit n = 1 is 122 nm, then minimum wavelength of the series is

el JogiyS n=2 fHe 3508 n=] £LSTE BASDpEs IvE'el Sdar e S08
agr0dod 5ol d00dBd gdw 1220m wond, & (dd® SRG880AB Y g0
(1) 408 A (2) 9150 A (3) 812 A (4) 915 A

Rough Werk
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116, When monochromatic light falls on a photosensitive material the number of photoelectrons
emitted per second is n and their maximum kinetic cnergy is K_ . IT the intensity of
= ® FHNaX
incident light is doubled, then

(1) both n and K are halved
3T ,
(2) ni1s doubled but K remains same
max
(3) K .. 15 doubled but n remains same

(4) both o and K arc doubled
] .:I:'i:&g od ¥ J18° ’M‘El (g Eﬁﬁ'gu 5 ﬁﬂﬁéyﬂa PESNS n st Jﬂﬁ‘}ﬁaw

Jobderon. O A0QHBeIE Ky &@Eﬁﬁ;’oﬁ %?Lﬁ-; L&!‘ek‘u SR ey
(I) nS:0cix K| OOEEs ot

(2) n DYoo) el 5 Ko S0y S0 &85

(3) K . OU0%) wid sd n 2y Vodd

(%) n So0csw K Todsds BdoR) e

117. A plane electromagnetic wave travels in free space. Then the ratio of the magnitudes of
clectric and magnetic fields at a point is equal to

(1) Encrgy of electromagnetic wave

(2} Inverse of the velocity of the electromagnetic wave
(3) Inverse of the energy of clectromagnetic wave

(#) Velocity of electromagnetic wave

&8 Pdido Dol ucﬁ:-ﬂ*?_,m!i 2500 drdgod” DArdRD 0. of Dok 56
=888 L0 an wahamoé § lero Ho0SrTo Ja @

(1) 8555 wabhdmo8 ddono gy 488' 55050

(2) wogd w08 ddodno aangy S0 DS*S08 HErSo
(3) g8 wahan od s8ofo TIng) 48 D& %08 HIrse
(4) S[~ST 20 wghbon od s8ofo WeE); JHes SIrdo

e EEE———, EEEEEEEE——SS
Rough Work
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118,

119.

An alternating emf given by equation E = 300 sin [(100 mjt] volt is gpplied to a esistance

100 ohms. The ms current Ilhmup.h the circuit 15 (in .-‘h.mpc:-:*.cj

'-I

aods, 100 L5y .-'.'.15*:5:5..: D (DTrAcSnsSs. & dechod |HSSrod s
-.-J:--._:':h.:h_ -h..LE DA n.rdJEﬂ L#}E‘J"‘lbj (rmns) s (GO0 o

6 3 9 .
W 75 A DT

The magnetic hUHELptlbllll‘- of a material of a rod is 299. Pereability of vacuum (@) 15

dn = 1077 H Ul Absolute ;‘Lmi@ ﬁ@ the

i

&S 55 Eaaﬁa, ﬂsﬁed‘&rqé o e 11550
dn % 1007 Hm'. wond, §§ Tohwds dordd SEHI0, 008

af the rod is

|

:nﬁ
"“

Y.

29

olasy ﬁulaﬁ;ﬂ&ﬂ ()

(1) 3771 x 10 Hm™ 2) 77 *x107"Hm™'

(3) 3771 =10 Hm™ (4) 3770 %109 H m™'

120. A paramagnetic sumple shows a net magnetization of 0.8 A/m, when placed in an external

e ————————

magnetic field of strength 0.8 T at a temperature 5 K. When the same sample is placed in
an external magnetic ficld of 0.4 T at a temperature of 20 K, the magnetization is

o8 &6 vohdpod Hargdnd wring wohidn o8 850 weo 0.8TS" ad'(ié 5K
54 4o0ddyd wd Srh 08 wehdnodEdndn Joos 0.8 A/m, w3 S0y
A2 S 20 K, ening wdbimod 3 (S0 800 04 TS sodid pd od edhdyodsindn

(1) 0.1 Am™ (2) 0.8 Am™’ (3) 0.8 Am™ (4) 0.1 Am
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CHEMISTRY

121. The mole {raction of water in 983% (w/w) H,S80, solution is
98% (w/w) H,80, |ordwmod® A8 3rd grrio
(1) 0,02 (2) 0.1 (3) 09 (4) 0.8

122, The reduction potential of hydrogen electrode at pH 10 is

FLID S8 "viiTes JoE o8 Egisdden ¥%30
P 2 j - A

- I‘_ ]

(I) VOV (2) <0.059V
(3) 09V g Y
————-—:"—-f:—t_—:_‘;_; B S

123. The halt-hie of & first ordSr reaction is 100 seconds at 280 K. If the wemperature coefficient
is 3.0, Its rate constant at 290 K in s™' is
&6 PO (SRS U0g wl S0gs 00 280K 3G 100 DES. a@i|dermnso 3.0 wond,
290 K .‘5..5' £ Jdg GIES fgﬂ‘c.ﬁﬂ s ot
(1) 693 x I
(3) 2.08 = 10

T

(2) 2.08 = 107
(4) 693 x 1073

L

124. Which one of the following forms a ncgatively charged sol ?
F08 88 puerI T FEH JEEHS8 287
(1) Cds (2) ALO;x H,0O
(3) Cr,O0;x HO (4) 1o,

1235. Which one of the following methods is used in the concentration of sulphide ore ?

(1) Leaching (2) Froth Moatation
(3) Smelting (4) Roasting
o8 SHod® T 5T 58 506 pAuro FoB¥0nod’ a3TNNNHT
(1) Vs ¥S0 (2) 948 (28
(3) |Brosc (#) FGda
- e ——————————————
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126. The correct arrungement of following acids of phosphorus in the increasing order of ox1dafion

stale’ of phosphorus 18

(1) pyrophosphone acid < prthophesphorous acid < hypophosphorous acid
(2) hypophosphorous acid < orthophosphorous acd < pyrophosphoric acid
3) hypophosphorous acid < pyrophosphoric acid < orthophosphorous acid
(4) pyrophosphoric acid < hypophosphorous acid < orthophosphorous acid
LT ﬁ*:':v;-:?‘.’:. wdros’ :}*ﬁ;;dﬁ l!.!g.:lﬁ::iEr 28 1 0| DO (Eds0

(1) & >AN0E o < m-g"‘ﬂ'*f::;}dﬁ 8550 < :'_.:r':'i'-".:;‘r-:’::;,dﬁ W30
(2) ZrPIPEE0 alao < ud P00 wdo < :ﬂﬁtﬂ‘ﬂ":j{lf &a20

o = Y 5 - o o+ I.TEI.III F =
(3) Sderadal < B s 3 B9, ' o e 9550
d o B Sests Ly ' . *r

g Jéﬁ @50

127. Among the following inert gas clements, the element that shows highest chemical reactivity

IS

Bod ad) ya I uin Swrostod Hﬁgas du*g’iuﬁm (RE0 0o s
(1) Xe& (2) Ne

(3) Ar (4) He

128. Crystal tield theory does not explain which of the following property of coordination
compounds 7

(1) structure of coordination compounds

(2) the covalent character of the bond between metal and the ligand

(3) magnetic property

(4) colour

Ppes 38 bgredo orgor ndin gl sEndTe J donn) D5808 B0
(1) :':I;:.'&E.Gi; :'::-3:-8'#::}*{1 .'Z'iu"ar:'m

(2) s*&>-8mrobo Sigghe vogo DuE) ARG DLPTH0

(3) wakar)od §020

(4) SoHs
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| || 3 [ i
1S I aroiials (sd) prd” nyorigisation. | e numbas npared
e ik 1 nt 1 « I"l"!n' X |
l & " ' X

!';. ol L B ™ al TR TR -u.._r (4d Jadd sn 1 EUSC b A O I8 0830

5 - . — e
o ) o R = I-:"h.-ll EL] --\_-\_l....."\-.: '.'-u-:.,..- s -\__l'-r.l
(1) 3 (2) 0
2 TR

" %

(3) 4 (4]

130. Identify trom the following, the mengmces whichmnderro comtiensation polymerisation

|_j~.,.l-:' St A ST T w {r-ﬁi .ﬁ'r‘ " e . "“’ ol ! . : ‘J-,;:_I:-ju:;:fq-.
- |

v ILC=CH-CH=CH,

(-0 H

[ 2% )

COH
g Ii:i'—i;'ll[_’[

5. F,C=CF,

6. (H,C),C=CH,

(1) 2.4

(3) 1,3

Rough Work
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131. Which one of the

132. Match the following
List-1

(A) Sucralost

(1)

(L)

lodine

Sodium benroate

(D) Ranitidine

Ak P T — = ek -
() SPa0I0 ToE Ei-"f

|'|.-I| O & 0 oy

The correct answer 18

2l DOTHS WITFFTISN

(A) (B) () (D)
(1y (an (111}  (IV)
(2) (1) (V) (D) (ITE)
(3) (I (V) (V) (1D
4y (I O (V) (D

following s¢

JbigDeal

(V)

(1T}
(111)
(TV)
(V)

List-11

Artifiem W eetenes
Anlseplic

Food preservative

5 - sl i Tl -
...I'_-.EET-IIJ'.- '-.-jw"'.- L= L
~ vy v AT S
Lol - l"h-'ﬂ}
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133. What 18 the name of the following reaction 7

val

CH.CH,CH,Br

|.|1'_'. L ad ] T

(1) Swarts Reaction

(3) Gatierman Reaction

(S0l Sdg S Dl

» CH.CH,

CH,|

(2)
(4}

JbigDeal

Sandmever Reaction

Finkelstein Reaction

.;55

CH,CH,CH, Br —— » CH,CH,CH,|
T a8 A%ty 272
(1) gy S (@) FEada.s
(3) maESrS 52 (), Snicus wEg
N Conc. HSO. 413K
BY = x —= et L (G0

What are X and Y in the above reactions 7
N md HSO, 313K
—X - e » (C,H,),0

Y -
= ddﬁur}" X S900%0 Yoo oodl 2

X Y
(1) C,H.OH C,H.ONa
(2) H,COH H,CONa
(3) C H,OH C,H,ONa
(4) C,H,OH C,H,ONa

135, Which one of the following methods can be used to separate a mixture of orthio- and para-

nitrophenals 7
(1} Steam distillation
(3) Solubility

98" S6cn dror F & hardo DFESID; I

(1) seo :1 rJSﬁlfﬁﬂ'
(3] Lf:s'...ri'c:ﬁ
T ——————————

(2) Crystalhization

(4)
(2)

(#)

Sublimation

sdad 349

#Jd&ﬂdwu

ﬁd&ééém

it o W

-' Fit®

el
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136, Acetaldehyde undergoes reaction in the presence of dil. NaOH (o give
(1) 3-Hydroxy bumnal 2) Ethyl acciate
(3) Butanvic acid (4) Acclic ncid
ol 'tD ::'{;"_f-:'f.n see NaOH 55:806° “:S,Eﬂ'u&r 3 Eﬁ!a?ﬁ}-
(1) 3-S5 arsy mgead (2) "Rd INE8
(3) wogoSont wdzo (4) 258F wls0
137. Identify the compounds from the following which form primary amines under suituble

reduction conditions
2o SN HOTHLN Easse 5.’."‘.'.’-‘;:‘.‘-.:4:::.5"" :‘._.:rji'.:ﬁﬁ JnSess bdjﬂﬂ faﬂ:gﬁmm

e T

Ticzuﬁw - i; l]i!l 2 @'a
4

), C,H;CONH, A C HNO,

6
(1) 23,9 (2) 1.4 (3) 3.4 (4) 1,3, 4

138,

Assertion (A) ¢ ALl =0 for a reversible as well as irreversible expansion of an adeal gas
under isothermal conditions, whereas AS, ., # 0 for an irreversible process.

Reason (R) @ AU is independent of temperature whereas AS is proportional to temperature.

The correct answer is

(1) (A) and (R) are correct, (R) is not the comrect explanation of (A).

2) (A) 15 correct, but (R) is nol comrect.

(3) (A) iz not comrect, but (R) is comect,

(4) (A) and (R) are correct, (R) 15 the correct explanation of (A).

DR3853 (A) ¢ wdE) osn ogsued’, STrg (BTt wdy Bdak S0
wiade) S (Dfdhod AU =0, 59 wduds g sl (D855
aAS 2 ).

sowsw (R) @ AU af([d3D werdddds o) AS aSf NS wid Intadrdo.
28 20THN DAIFEDHO

(1) (A) 0% (R) e HOTRID, (A)S% (R)HOTHN Jnbes [T

(2) {A)=285%h348, 5 (R) 2850548 sdo.

(3] (A)J0TRI8 574 571 (R) LD TN,

(4) (A) S:008s (R) ve H8TBED, (A)D (R) 20T0S D58,

Rough Work
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139, When 0.1 moles of N,O () was placed in g 1.0 litre flask al 400 K and closed, the
following equilibrium is reached with a total pressure of 6 bar
N0, == 2NO,

) ()

Assuming ideal behnviour of the gases, the partial pressure of N, O (g) at equilibrium in bas

is (R = 0,083 bar L. mol ) agt)'

10 Hal o8&t 0.1 Brdo N,O e 400K OS¢ Ao A SorhabaT axd o
a6 bar S O piserha8 J\80d,

te P O oAl S5 Lgﬂrl.'l ) [ 2 .g't! l]ijl‘-'lﬂ-i_ilh

i

N,O, == 2NO,

(&)

Hi-nj" "‘li..r":'-':ri_}i‘-ﬂ‘ ‘“ﬂﬁw- J & ii F_i ﬂlulﬂﬁ i
(R=0.083 bar L nn ;"I"‘l'l( ') i }

(1) 2.68 12)-3.32 (3) 9.32 (4) 0.64

i e
TS50 barod

140. A saturated solution of Ca,(PO,), contains2.0 * 107 M of Ca** and 1.6 = 10~ Mof PO,
at a certain temperature, The solubility product {Hq‘] of Cay(PO,), at that temperature i
wE AP E IS 5S abgudd Ca,(PO,), Sodjs (edadx, 2.0x 107" MCa®" So0cdn
L6 10°M PO 00 408, w8 a@YKS 58 oop |nScdoher vyo, K
(1) 800 = 1072 (2) 2.048 x 107 (3) 2.048 x 1077 (4) 3.20 x 101

141 In which of the following reactions, H,0, acts as a reducing reagent ?
Bod Sdsodt, WS 1-11{}: ohidn sdfom HRATalnds?

(1) PbS(s) + 4H,0,(aq) y PbSO(s) + 4H,0())
PbS(%) + 4H:'D:Lau} y PDSO (0) + 4H,0((&S)

(Z) HOCI + H,0, y H, 0"+ CI" + 0,

b

) Mn®" + H,0, _OH | Mn'" + 20H"

Ll

(:

(4) 2Fe2* + H,0, O | 2Fe’t + 20H

Rough Waork
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142, The decreasing order of hydration enthalpies of alkaline earth metal 1ong is

P T e - PRy S S A Sy "V, T :
= 5.‘&3 &8 O E-_'h‘u.'a."ru.,. B &% LJ- ad e ssODVES "8 2 .r{ L£ ."E...,,...,,n' ' |
iy L B i

s

b ]

(1) Be* > Mg** > Ca** > 8t > Ba® (2) Be*" > Ba®* > Mg™ > Ca* > s

(3) Ba*" > S ~ Ca*" > M;_:'“ > Be®* (4) Be*" > Cat > 872" = Mg?' = Ba’'

[,

143. The correct increasing order of the stability of AI*, Ga*. In". T1* ions is
Al,Ga', In", TI", sdiorS o 20820 DO HOTBS Fl0
(1) TI" < Al < Ga™ < In' (2) A" <Ganw<TI" <In'

(3) Al' < GaWain™="pr r%iﬁ“@i {@ﬁﬁ In < Ga* < Al

dqﬁ

144. Which of the following is used as black pigment in black ink 7

(1) coke (2) carbon black (3) germanium (4) graphite
(FO8 ;&S TIV I00 Bovd® Sl S0 %0 maies?
(1) 5°S (2) 5638 % (3) B dsse (@) md

145. Which one of the following sets contribute 10 the global warming 7
508 ddded® Zritda SB8) a8 880 FHa Dar
(I} H,, NO,, SO, (2) §0,, §0,. 0,
(3) N:. C.H,, SUJ (4) CO,, CH,, CFCs(e )

146. In the estimation of halogen, 0.18 g of an organic compound gave 0,12 g of silver bromide
What is the percentage of bromine in the compound ? (Molar mass of AgBr = 188: Atomic
weight of Br = R()

TSTuD wod T SP3Bpd, 0.18g v ol LR ?’:T:b&#féa 0.12ge ol Lzﬁ";:&,ﬁ;!
au)ed. DIEI0S'N (BB P ErSo Jod? (AsBr soo B&gors = |88
Br ®8&ras orddo = 80)
(1) 30.64 (2) 35.24 (3) 2484 (4) 28.36
__'-_—__
Rough Work
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147. C=H and C-C bond lengths (in pm) in ethane are
3 ‘:i.._ ot O wtleT: N & e A .
MESO'D C-H 300050 C-Cwog Besws (pmodh)

(1} 100, 154 () 133,154 (3) Li0, 136 (4) 112, 154

148. What aire Y and 7 in the Ihli.-_n-;tng reaction sequence 7

NaNH, . Hg"/H*
1 » 'll =

B HO 3K &
Y Z
(1) ethane ethano|
(2) ethynce acetc acid
(3) ethyne ethanal
(4) ethyvlamine ¢thanal
|B08 Sovg (K806 Y $580850 Z oo Dol ?
CH, = CHBr — 0y, v _Hg"W®
3 O 33K 4~
Y Z
(1) &85 eSS
(2) &3S JREE wddn
(3] 151_:__";.;-5 ad o -
4) 2BS 2058 agare

149. T - ages of voi ' |
he percentages of void space for simple cubic, body centred cubic and hexagonal close
packed arrangements respectively are
wO® DiNo, uué:éa@ﬁé Wo0 aadain E':E.E‘Ertﬁﬂ&a sy s Erdnedst b ndy
TS0 SE5m i | |

(1) 32,. 32 :
) 32, 48, 26 (2) 48,32, 26 (3) 48,26, 32 (4) 26, 48, 32

qﬂllgh Work
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150. van't Hofl factor, i, of a 0.5% (w/w) aqueous golution of KCl which (reeres m —).2

5 .-Il'b[

15
(K., of water = 1.86 K kg mol™, Mol. wt, of KCi = 74.5)
0.5% (wiw) KCl 2o |ordno 0.24°C ¢ Suddso Vodd o'l aredry (van't Hotb)
g0, i

&8 K= 1.86 K kgmol™, KCl weoardo =74.5)
(1) 132 (2) 1.52 (3) 2.32 4) 1.92

™™

151. The wavelength inometres, of ﬂl u“ﬁjpﬂ; of ng.%;'g g moving with a velocity of
1.0 % 10* cm s 448 (h =6.626 B0 8
1.0x10'cms ' Fiod adbuow, i.ug._.:;a:..;uf% fo Sy Sel) S0oKBE g0 wege
(h=6.626 = 1074 Is)
(1) 6.626 = 10747 (2) 6.626 x 1072
(1) 6.626 = 107 (4) 6.626 x 107

152. The ratio of ground state energy of Li*’, He" and H is
Li**, He' S:0ain Ho 058 48 Dovlie D)8
(1y 941 () 1 3
(3) &9 vaitl @) 1:4:9

ot

153. Elements A, B and C belong to the same period in the long form of the periodic table. The
nature of the oxides of A, B and C is amphoteric, basic and acidic respectively. The co
order of the atomic numbers of these elements 18
AB.C Soroso, o0 )8 oS85 ‘I:i_!ﬁ:ﬁ‘ .2 DN ES BonofHoLadw. A B, Cawros e
uE 80 Hoerdse S BgRgeTHo, BrURgETL0, wdy Heamdo, &1 Sarere DI
Lowgo LOTRY (SH0
(1) B>A>C (2) C>B>A
(3) C>A>D 49y A>B>C

———————
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154, Which o1 ¢ following is the correct order of the siz
(B e 0D S35 D A
(1y 0O | i W i (2y N
- b ' | g 2
(3] O | At M (4) Mg~

IS8 11 E = the number of lone pairs of electrons on Xe,

H |]1L‘ I‘!'.I'.lil?l.ir UI' |'|1‘IT11.3IT'IE nairs of 1'[!,.'L_'[I[HI?-.
5 = shape of the:moleciil
ihen. whot 15 the 88 of o

E=Xe 08 ady nohd :HE-T“?,:-.'- dobhe Howe.
S _

== e

[1:'1- = Wty g 1 - wl L
|._.I B W - S Py
— et q-..--.-':.l .ﬁu' mﬂ“-—:" P bt oy B
- L=
W) BWE\d.
L

E B S

= r r
8 2 square planar (S&816 Sdado)
3 octahedral (823 Do)
i i square planar {id&dl_i:a a8 0

P
¥

square planar (< &ad L:_':, Baade)

JbigDeal

Rovgh Work

AM 2014 29 R



Download from JbigDeal

/B\

150, In ; molecule, the formal charges of oxygen atoms 1, 2, 3 are respectively
4
|
/i o 1. 2, 3 &8 yed DESrmaHe NGy 8 :_'--ﬁ.:gﬂ‘“?.--r*:_;-.‘ ot
3
(1) =1, 0, +] (2) 0 =1, +1]
(3) 0,+1, =1 @ +1, 0, -1

—— L . = e
. om —— —_— — - e ——

I57.If 240 mL of o =a8"K diflus s ﬂﬂ'ﬂd; i peTous m-_,mh‘ﬁﬂ;iu 200 min whereas the samg
volume of methane diffdees in |0 min at the sameé lemperature and pressure, the molar mass
in g mol Uof gos X s
W W8 S ER06 240mLe X ordla®) orghno Dodas 20 9. S0d ux wi adhid,
vddo §d vl PEB0Lrro o NFE ogddo JowH 100, H49, X rdialy
Srel (Bdg001 gmol o
(1) 128 (2) 8

(3} o4 (4) 32

158. The rms speed of helium in ms™' (atomic mass = 4.0 g mol™) at 400 K is

400K 5& SDafio (B8Srm grdo =4.0gmol™y ms B ms e

(1) 1580 (2) 158
(3) 28 (4) 158
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| & B P !-'I & 'E':' '.l!!.[_h:l.-ll
-I. 5 - !.' |I-L-! ST _‘_'.-,._|||_-\. 4 |
. ecanl S moles of Al(g) end 7 moles ol B3
159, h“l- a oloo d vessel. mial -
mannct
A (@) + L (g) . 1|.”-|;_'"
| yovtainer 4l the ¢ +f the reaction
1 A T v container ol the end «
vl numbet of moles-of gases present in the €O
What is the total number Ol ¥
el S Wy L
| alA s L e i | T
a i il .._"'; "_.n|..r:|.|.._ .'l‘ L..?.'I T_::{!:E H-.'IE‘.:I"-}'}I. el ..._.-.H:,'I-.}n 1—"-."'\'_'..""1-' 'l-.-l' o 3 1
S gy e M| e Bl L s L*

A (= +3B.(F) —F Er\f].'f-".r‘}-

oy —y - P 7, W
' e E n = 5 ] T L .5:! r:ﬂ.}t:}'. iJL.JLI i
Lo Srdons ddavd oo Snd0 FiRgo - 8

D~ =

s 14
B = i :'.I' ? i | _1_,
(1) 3 2) 7 L i ‘

160. Observe the following reaction

INOL(g) + 20H(8q) — N{.}E{.’:m + H['}‘:,{aq‘l + H:ﬂm

In this reaction,

(1) NO.(g) is reduced 1o NOS (ag) and oxidized to H'D:,{uq’.i

(2) OH 1s oxidized to “:ﬂ

(1) OH is reduced W0 H:ﬂ

(4 NO.(g) is reduced to H[)&[aq} and oxidized to NOj(aq)

Ol Srhs Soge A 8RO oS5
INO.(o) + 20H (me) = NO (2O} 7 NO(&o) | H,0 (&)

& 1::555*. “

(1) NO.z%. NOjlze)m 05050 NO(mo)m efyEseo dodad
L] -}||'I'I'- L L s

(2) OH . H.O nv uéysdmo Todsa

(3) OH", H,O A~ £0R50®0 Solbsd

(4) NO (&, NO-(moin Sof8dme, NOj(2o)m® uiNS6mo Hobad

H
——————
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